English-7
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The Sentence

A. 1. You see this evening.
2. Close the wardrobe.
3. Itold him not to go.
4. Do not make a lot of noise.
B. 1. Negative, 2. Exclamatory, 3. Exclamatory, 4. Exclamatory, 5. Interrogative,
6. Affirmative, 7. Affirmative, 8. Affirmative, 9. Imperative, 10. Imperative
C. 1. Do I not work at a bank?
2. Does Kareena not sell flowers to make a living?
3. Does Martin not live on this street?
4. Does Shyam not help his sister with her homework?
5. Does Gautam not develop apps for smartphones?
6. Does Kailash not go to school on foot?
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The Noun

A. 1. Barber, 2. Nurse, 3. Chemist, 4. Baker, 5. Doctor, 6. Carpenter, 7. Conductor,
8. Farmer
B. 1. bunch, 2. set, 3. school, 4. hive, 5. pack
C. 1. heroine, 2. lass, 3. spinster, 4. mare, 5. baroness
° °
The Adjective
A. ADJECTIVES OPPOSITES ADJECTIVES OPPOSITES
careful careless healthy unhealthy
shy bold fat slim
lazy hardworking smart stupid
friendly unfriendly old young
special ordinary funny serious
polite impolite strong weak
happy sad rich poor
tall short empty full



B. 1. healthy, 2. hardworking, 3. smart, 4. tall, 5. timid, 6. rich, 7. slim, 8. polite, 9. special,
10. funny, 11. strong, 12. careful, 13. friendly, 14. happy, 15. special
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The Determiners
A. 1. The, 2. The, the, the, 3. an, the, 4. the, 5. a, a, 6. The, the
B. 1. These, 2. Those, 3. This 4. That, 5. this, 6. that
C. 1. Some, 2. any, some; 3. any, 4. some, 5. some, any, 6. some, 7. some, 8. any, some
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The Pronoun
A. 1. it 2.it, 3. they, 4. it, 5. he, 6. her.
B. 1. which, 2. that, 3. who, 4. who, 5. that, 6. who, 7. who, 8. whose, 9. who, 10. who,
11. who, 12. who, 13. which
1. Subhash and I are friends.
2. Your problem is bigger than me.
3. None of we went.
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The Verb
A. (a) looted, (b) killed, (c) occurred, (d) entering, (e) woke, (f) call, (g) was attacked,
(h) fell
B. 1. have, 2. are, 3. likes, 4. is, 5. is, 6. has, 7. was, 8. leader, has, 9. is, 10. was

Lo L vesreas S

Subject-Verb Agreement
A. 1. entered, was teaching, 2. came, was studying, 3. was sweeping, saw, 4. were playing,
started, 5. was running, failed
Birds fly in the air.
You do not tell a lie.
Postman brings letter daily.
He likes catching butterflies.
Neena does not write well.

will have finished, 2. will have taken, 3. will have done, 4. will have saved, 5. will have
bullt

C.

B.
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Modals

A. 1. must, 2. have to, 3. must, 4. should, 5. would, 6. should, 7. must, 8. dare, 9. could,
10 used to
may, 2. can, 3. can, 4. may, 5. may, 6. will, 7. will, 8. might, 9. may, 10. might
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Non-Finites

A. 1. I want water to drink. infinitive
2. Singing is his favourite pastime. gerund
3. [ am sorry to hear this. infinitive
4. We drank the sparkling water. gerund
5. She was depressed to hear the news. infinitive
6. Trespassing is prohibited. gerund
7. Following his father’s footsteps, he became an advocate. gerund
8. A rolling stone gathers no moss. gerund
9. Would it be easy for you to call me tomorrow? infinitive
10. I will be happy to help you. infinitive

B (a) to fetch, (b) wagging, (c) to pamper, (d) barking, (e) licking, (f) to eat
to come, 2. to leave, 3. to take, 4. to go, 5. to bring, 6. to stay, 7. to learn, 8. to give
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Active and Passive Voice
was made, 2. made, 3. shot, 4. was shot, 5. was declared, 6. won, 7. was, checked,
. was proved, 9. was, caught, 10. Did, rob
The flowers are being plucked by her.
The clothes are being washed by her.
A car is being driven by him.

A.

B.

Are the apples being eaten by you?
A book is being read by me.

Tea will be taken by me.

You will be punished by the teacher.
My books will not be stolen by him.
A kite will be flown by him.

10 The food will be cooked by her.
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Direct and Indirect Speech

A. (a) what she could, (b) tell, (c) she could, (d) it should, (¢) which colour, (f) would prefer,
(g) take it the next day

B. 1.

SIES S

The teacher said, “India became independent in 1947.”
[ said to him, “Are you in your senses?”’

The old said to her, “Obey your elders.”

She said, ““She is ruined.”

He said to me, “You should go for a picnic.”
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The Preposition

for, of, from, for, with, of 2. in, in, in, for

under, 2. below, 3. under, 4. over, 5. among, 6. under, 7. since, 8. after, 9. between
He hit me with a stick. 2. Many people died of cholera.

I need a pen to write with. 4. This paper is inferior to that.

He is going towards home.
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The Conjunction
but, 2. and, 3. but, 4. but, 5. and, 6. Neither, 7. Not only, 8. and, 9. either, 10. either,

. also

Unless the assistant should apologise in writing he will be dismissed.

Although Sonal was down with jaundice before the examination, she passed with 85%
marks.

Though it was a very expensive dress, she immediately decided to buy it.

Unless your doctor recommends this medicine only then take it.

Only if principal should recommend your case then you will get this scholarship.

He won the match quite easily even though he had been out of practice for quite a long time.

T e

A. 1.

The Adverb
now / forever — speak, 2. thoughtfully — assigned, 3. early — arrive, 4. well — did,

miserably — failed, 5. very — put, 6. unusually — fast, 7. extremely — fast, 8. quite — look, 9.
surprisingly — tall, 10. very — rarely, 11. quite — often, 12. ordinarily — think.
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B. 1. slow, slowly; 2. careful, carefully; 3. angry, angrily; 4. excellently, excellent; 5. casily,
easy; 6. good, good; 7. awfully, awful; 8. carefully, wonderful.
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Phrases

A. 1. of great wealth, 2. an old man of friendly disposition, 3. a tribe dwelling in the hills,
4. with red hair, 5. with plenty of money, of such beauty and power, 6. of great promise,
7. made of gold, 8. with great speed, 9. in all places, 10. in a very rude manner, 11.
without any worries

B. 1. inafew words —  briefly
2. without doubt an —  undoubtedly
3. in former times —  formerly
4. with caution —  cautiously
5. in all probability probably
Clauses
A. 1. clause, 2. phrase, 3. clause, 4. phrase, 5. phrase, 6. clause, 7. phrase, 8. clause
B. 1. Dependent, 2. Independent, 3. Independent, 4. Independent, 5. Dependent
C. 1. is well-written, 2. in the dog park today, 3. was in my fruit tree, 4. tonight for dinner,
5. for the rest of this week, 6. is very skittish, 7. on his rice, 8. across the street
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Simple, Compound and Complex Sentences

A. 1. simple, 2. simple, 3. simple, 4. compound, 5. simple, 6. simple, 7. compound,
8. complex, 9. compound, 10. complex sentence
B. 1. The baby called for food.
2. Alex likes to fish, but he is going fishing on Sunday.
3. The president chose people who would help him make good decisions.
C. 1. All the items that they required are available in the store.
2. The dresses which appear to be quite cheap are there.
D. 1. We must eat to live.
2. He must not be late to be allowed to enter.
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Conditional Sentences

A. 1. If Jane eats too much chocolates she gets sick.
2. If you do not eat, you die.
3. When you heat ice it melts.

B. 1. do not study, will fail, 2. will lend, need, 3. am late, will call

C. 1. left, could travel, 2. were, might lend, 3. would be, stopped

D. 2. had’t fallen, would have crashed, 3. 4. wouldn’t have lost, hadn’t been. 5., 6. had, could
have gone

were, 2. have got, 3. freezes, 4. will regret, 5. would not have hit, 6. had been
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You

Father :

You

You

Father :

Son

Father :

Son

Son

Father :

Father :

Father :

Dialogue Writing
Father, next weak movie Sanju is releasing.
Then!
[ want to watch it.
Why, is there anything special in it?
Yes father. I've seen its trailer many times. Its main character is Sanjay Dutt and it
is cell about controlling one self from drugs.
Oh! Oh! That movie in which Paresh Rawal is playing the role of Sanjay Dutt’s
father.
Yes Pop!
Why, do you want to watch this film?
Father, in this movie I like Paresh Rawal’s dialogue that is (Mera beta koi gujra hua
wagqt nhi h ki joh laut kr vaapas nhi aa sakta.)
Ok. I shall take you to the theatre next weak. But on certain conditions.
[ agree to all your conditions, Papa.
First get prepared for your half yearly examinations fast. They are going to be
started in the last week of this month. Next Sunday I will make you watch this
movie. It’s my promise. OKk.

R e

Debate Writing

If a child had a mobile phone, they would be most likely to be constantly on it, texting,
playing games, sending pictures, etc. Many accidents that have happened, have been
because of mobile phones. Car accidents : the majority of car accidents have been
caused by people answering texts and losing control on the car, therefore crashing.
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Also, if you were walking in the street, staring at your phone, Being addicted to your
phone may cause you walk into someone or something, hurting you or someone else.
2. Cyber bullying is a huge problem. If a child gets cyber bullied, they will worry about it
so much that they will start falling apart (not literally!) Mobile phones can be extremely
dangerous and unsafe. Another thing linking with cyber bullying is hacking and viruses.
Pop up ads are so dangerous. By clicking on a link, you may be letting a hacker or a
virus into your phone. Remember, if it looks too good to be true, it probably is. Go
with your gut feeling.
3. When children get a phone, a part of them turns silly. Basically talking, they might post
something crazy or inappropriate. You need to be responsible.
I think that children should have a mobile phone but you should have to be 13 years
old. It also really depends on trust from your parents.

Words that Often Confuse

A. 1. There, their; 2. (i) heel, heal; (ii) heal, heel; 3. (i) hear, here; (ii) hear, here; 4. (i)
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check, cheque; (ii) cheque, check; 5. (i) sour, sore; (ii) sore, sour
We go to school five days a week.

Our principal follows strict discipline.

Don’t wait for me for more than ten minutes.

Yesterday we read the last lesson of the book.

Do not waste neither time nor money.

The ball broke the window pane and fell into the drawing room.
Tea is grown in Assam.

accept, 2. effect, 3. canvas, 4. compliment

Bio-Sketch
Pratibha Devi Singh Patil, the 12th President of India and the first woman to hold the
office, was born on December 19, 1934, at Nadgaon village in Maharashtra’s Jalgaon
district. After completing her basic education, she secured a Master’s degree in Political
Science and Economics from Jalgaon and a law degree from Mumbai.
She practiced law at the Jalgaon District Court.
She married Devi Sing Ran Singh Shekhawat on July 7, 1965. Patil was elected to the
Maharashtra Legislative Assembly on a Congress ticket in 1962 and consistently won the
state elections between 1967 and 1985. She became a Rajya Sabha member in 1985 and
was elected to the Lok Sabha in the 1991 general elections from Amravati Constituency.
On November 8, 2004, Patil became the Governor of Rajasthan, the first woman to occupy

this post.



Three years later she emerged as a compromise candidate for President and her name was
announced by the Congress-led United Progressive Alliance on June 14, 2007. She won
the election that was held on July 19. Her challenger was the then Vice-President Bhairon
Singh Shekhawat, backed by the opposition National Democratic Alliance.

According to a BBC profile, Patil “was by no means a unanimous choice for the role.” But
her long association with the Gandhi family made the “low-profile governor” of Rajasthan
the “favoured presidential candidate of Sonia Gandhi.”

Patil defeated Shekhawat by a margin of over 3 lakh votes, securing nearly 66 per cent of
the total votes cast.

The Hindu wrote : “Reflecting the UPA-Left’s national spread... Patil made her presence
felt in every State, whereas... Shekhawat drew a blank in West Bengal, Kerala, Tripura and
Mizoram. He secured healthy margins in Gujarat, Madhya Pradesh and Rajasthan.”

She was sworn in as President on July 25, 2007.

In an article on the newly-elected President Outlook magazine wrote : “Pratibha Patil not
only has to be a ‘people’s president’— she needs to come up to the expectations of the
women of this country.

B.

Comprehension
day — play, flew — knew
wind
because the snow laid a coverlet over their heads.
Changing seasons (the leaves start to fell is Authmn)

IS S

. Personification
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Paragraph Writing
1. Rainy Season

I like the rainy season most. It is also known as monsoon season. It is my favourite and
best season among all four seasons. Rainy season starts in India in the month of June
when winds of South West Monsoon starts blowing. Monsoon begins in the middle of
June, and continues up to September. According to Hindu Calendar this season is felt
in the months of Asaadha and Shravana. During the season, the sky is generally
overcast with cloud. The clouds of different shades move in the sky and look very nice.
Sometimes, rain comes along with lightning and thunder. The Rainy season comes
after the Summer season, so, this season brings relief to the burning earth scorched in
the summer heat. The temperature remains pleasant during the monsoon. All the living
things enjoy the rainy season by getting wet into the rainwater.
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2. Independence Day
15th August is our Independence Day. On this day we won our freedom from foreign
rule. It is celebrated in every village, town and city of India. But the main function is
held at the Red Fort in Delhi where the Prime Minister hoists the National Flag. He
delivers a speech emphasizing the importance of national unity and integrity of India.
He reminds the people of the great sacrifices made by the Indian leaders to achieve
independence. It is a day of national holiday. Celebrations are also held in the state
capitals. The governor of some other state dignitary unfurls the national flag. Our
school also celebrates this occasion. It reminds us of the martyrs. It reminds us of the
responsibility we owe to the nation.
3. Importance of Education

Education helps widen a person’s mental and intellectual capacity. Any process or
activity that serves this purpose, therefore, is part of education. While there is a formal
system of education, there is also an informal system of education. The formal system
of education consists of the academic and scholastic learning imparted at formal
schools and institutions of higher learning through teachers. It has a structured and
organized set-up of syllabus and evaluation system through examinations. The informal
system includes learning and study through various alternative means that includes
books, and self-learning through experience and experimentation, besides interaction
with scholars and experts in particular fields. One can also engage in both the formal
and informal systems of education. It helps not only in the development of an
individual, but through a cumulative effect it promotes the favourable growth and
progress of the community, the entire society, and the nation as a whole. Education
and intellectual growth of the people helps in creating broad-mindedness in them. This
helps in solving almost all social ills that plague a backward society. Similarly,
education is the solution for economic empowerment of the people. This helps in the

emancipation of women and socially backward communities.

‘ Worksheet-25

Message Writing
A. 15th Feb, 3 : 30 PM
Meenu
Mini called you. She has cancelled her birthday party as her grandmother fell down
and broke her bones. She is admitted in the hospital. Call her.
B. 15th March 3 : 40 PM.
Renu
Ruhaan called up to say that there is a book reading session this evening at 8 pm at
Oxford Bookshare. He will pick you up at 6 : 30.
Manu
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Notice Writing
A. FOREST DEPARTMENT OF UTTARAKHAND
NOTICE

August 04, 20XX

Attention

Ill-effects of Hunting
Hunting has been chosen as an activity or sort by the Indians since eye. The ill effects
of hunting are destructive. Hunting causes to the destruction of ecosystem and in
increase in the population of a particular species. It is punishable act to the hunters. So
please try to stop to hunt animals for fun or for accumulating wealth at the cost of
animals’ life.
Thank you
Ankit/ Anita
An official worker

‘ Worksheet-27

@
Letter Writing

To

The Deputy Commissioner,

District Kanpur

Subject : Laying out a park for children.

Sir,

I, on behalf of the people living in the city, request you to provide a park for the children of
this city. I hope you will fulfill this long-felt demand.

It is an old town with changing conditions of life. New towns are coming up on new lines.
This town remains old fashioned as it does not enjoy modern amenities of life. Children
have no place to go to walk or play and so they are playing in narrow city lanes and roads.
This obstructs traffic and sometimes leads to accidents.

Childhood is said to be the formative period in the life of a person. Children are the future
citizens of the country. They should be allowed to develop both physically and mentally
power. It is, therefore, necessary that they get a proper climate and environment for their
growth.

It is requested that a park for children may be provided. There is a large piece of land lying
vacant near the District Library. It can be acquired for this purpose. It will fulfill the need
of the children of this city.

You will earn the gratitude of the people if early steps are taken for providing a park for

children,
/11



Yours faithfully,
Vanita Kapila
August 20, 20xx

° °
Story Writing

A. There is a well-known saying : “If wealth is lost, nothing is lost. If health is lost, something
is lost. If character is lost, everything is lost.” It can be reasonable believed that no person
in a sound mind would like to lose something even.

A healthy man can work hard and earn wealth, whereas an unhealthy man can’t do this.
Moreover, it is said and that rightly so, that “a sound mind lives only in a sound body.” In
the modern world brain is everything to get all that man desires, but health is a prerequisite
for having a good brain.

A student who works hard throughout the year has to bring out his knowledge on the paper
on the day of examination. But if he does not enjoy good health, he may fall ill on the day
of examination and thus all labour done by him the whole year may just go down the drain.
In normal cause, even to pursue one’s studies in a sustained manner may not be possible
for one who doesn’t enjoy good health.

It is for this reason that it is said that students and all young people should take part in
sports and games and have regular walks and exercises on daily basis.

Those people who run after money excessively and lose their health, are no gainers in any
way. A man having a lot of money, may not even be able to enjoy the fruits of his labour
because death and disease can overpower him any time. So, the first and foremost thing for
us is to take care of our health. Wealth-earning and other motives must take only a
secondary place in our scheme of things.

B. Gaurav was a fourth grade student. He was a good boy, always smiling and did well in his
studies. However, he had one bad habit. He would never wake up early in the morning.
Due to this, he was always on his toes in the morning. Bathing, getting dressed, eating
breakfast was all done at a maddening pace. His parents always advised him to be more
disciplined, but, it all fell on deaf ears.

One day, as usual Gaurav was getting ready for school. He ran out of his room. His father
saw him and asked him to slow down and eat his breakfast. Gaurav replied that he had no
time. He picked up a sandwich and rushed out. His father just smiled.

Gaurav managed to reach school just in time. He was surprised to find the school deserted.
He wandered in and found the principal. The principal seeing him asked, “How come you
are here at school? Didn’t you know it’s a strike? Anyway, it is good that you are here, now
you can help me with my work.” Gaurav’s heart sank. He had no idea what to do. The
only solution was to finish the principal’s work fast and go home. Alas, he was wrong. The
principal first made him write down the names of all the students in the fifth grade in the
register book. Then he made him go to each classroom to keep dusters and chalks. All of
this took up almost half the day. Gaurav was famished. After finishing all the tasks, the
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principal gave him permission to leave. Gaurav decided to eat his lunch. He realized, in his
hurry he had forgotten to carry lunch box. He started his journey back home. He was
waiting for the bus when a passerby reminded him that the transport services were stalled
due to the strike. He had to walk for 5 kms.

Ultimately Gaurav reached home tired and hungry. He saw his Dad and asked him if he
too went to the office and returned home. His father replied, “You knew it was a strike and
you still did not stop me from going to school?”” His father replied, “How could I tell you,
you were in such a hurry.” Gaurav realized his mistake. he apologized to his parents
and swore to be more disciplined in future, because “Discipline is the secret to a fruitful

life.”

@ L ]
Factual Description

A. My New Mobile Phone
Last evening I was elated beyond limits as I was gifted a mobile phone by my father in a
response to my long standing request. I had asked him many times to buy me either a
laptop or a mobile phone. It is very beautiful and sleek. The Samsung Galaxy ] 7 Prime is
powered by Octa Core, 1.6 GHz Exynos 7 and it comes with 3 GB of RAM. The phone
has 32GB of internal storage that can be expanded up to 256 GB via a micro SD card. As
far as the cameras are concerned, the Samsung Galaxy | 7 Prime has a 13-megapixel
primary camera on the rear and a 8-megapixel front shooter front camera for selfies. It is a
dual sim device with a 5.5 inch TFT Full HD (1,080 X 1,920 pixels) display. It runs
Android V 6.0.1 and is powered by a 3300 mAh non removable battery. Connectivity
options include Wi-Fi, GPS, Bluetooth. Sensors on the phone include Ambient light sensor,
Accelerometer, and Gyroscope. It is a marvel of technology by SAMSUNG. Now I can
access internet at fast speed and download movies, songs, videos, my lessons and all the
information that I require. I feel so empowered with this device.

B. Sardar Vallabhbhai Patel
Full name of ‘Sardar Vallabhbahi Patel’ was Sardar Vallabhbhai Jhaverbhai Patel. He was
born on 31 October 1875 in Nadiad, Gujarat, India. His father’s name was Jhaverbhai
Patel, who was a simple farmer. His mother’s name was Laad Bai, who was a simple lady.
Sardar Vallabhbhai Patel was one of the leaders of the Indian National Congress and one of
the founding fathers of the Republic of India. He took active part in the freedom struggle
of India.
Sardar Vallabhbhai Patel became the first Home Minister and Deputy Prime Minister of
India. He used strength and determination to bring together the many Indian princely
states to form one united country-India as we know it today. He was often known as the
‘Iron Man of India’.
Sardar Vallabhbhai Patel died on 15 December, 1950 at the age of 75. He will ever be
remembered for his great works.
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‘ Worksheet-30

[ 4 g
Poster Making
A. _ ,
J Charity begins at home
o LET’S BEGIN WITH NEAT & CLEAN COLONY
I join
) A CLEANLINESS DRIVE
H
A on
N SUNDAY, THE 5th OCTOBER, 20XX
D Assemble at Community Centre, Janakpuri
S at 9 a.m.
Remove filth
Each One, Clear One Patch
A clean city Make Janakpuri Keep Delhi
is a green city Spick and Span Green & Clean
B. TAKE
REGULAR EXERCISE
AND
* Become Active! * Get Fit For Life! *x Enjoy Mental Alertness!
Remember
A Healthy Body Shelters a Healthy Mind
Exercising can be fun — choose any one :
© Swimming
Run and o Jogging Sport a
have fun © Aerobics Healthy heart
© Dancing
@ Working out at the Gym
Give your heart
a healthy resort
Issued by
Sports Authority of India
A B worsneet3t
@ L J

Essay Writing
1. The Use of Mobile Phones

Nowdays, the mobile phone plays a major role in our lives, which brings many benefits to
us but also contains some drawbacks. Both these sides will be discussed in this essay.

Generally, the mobile phone will certainly bring about a lot of advantages. First of all, the
mobile phone is considered the quickest means of communication in our daily life. We can
contact easily with our friends and our relatives wherever by calling or sending messages.
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Second, the mobile phone is also a means of entertainment for people. We can listen to
music and play games on mobile phone. Moreover, by using the latest apps on smartphones,
we can access to the internet to watch Films and check our profile in social networks and
update our status wherever we are. Finally, if we have a smartphone in hand, our study
becomes more effective such as look up dictionary, find out many sources of reference on
internet which is useful for study.

On the other hand, the mobile phone has also many disadvantages. First, telephone users
become to addict of their mobile phones if they are too depend on it. Moreover, the ability
of human communication is limited if the mobile phone is more present in some events
such as class meetings, on the bus, in the park...some people only focus on their phone
without communicating. The use of mobile phones too much will make people take a lot of
time, it not only influence on study results, makes students distraction but also it is cause of
eye-diseases. Finally, we shouldn’t use mobile phone while we are driving because it can
lead traffic accidents.

In conclusion, mobile phone is necessary for our modern lives today. However it is helpful
or not, which depends on our ways of using it. It will be better if we use it for true purpose
and in an appropriate time.

. Importance of Yoga in Modern age

Yoga aids in controlling a person’s body, mind and soul. It brings the physical and mental
discipline together to soothe the body and mind. It also aids in managing stress and anxiety
and keeps you relaxed. Yogasanas are known to develop vigor, flexibility and confidence.
Benefits of Yoga

% Improves flexibility of muscles % Corrects the posture and alignment of the
body

Strengthens internal organs

Cures diabetes

Helps in skin glow

Tones internal organs

Helps in mind and thought control

Helps in releasing tension

Renders better digestive system

Cures asthma

Helps in curing heart related problems
Promotes strength and stamina
Improves concentration

Keeps mind calm by overcoming anxiety,
stress and depression

Helps in blood circulation and muscle relaxation

Weight reduction

Protection from injury

These are among the numerous benefits of yoga. Yoga focuses on your natural tendency
towards health and self-healing.

A yoga session mainly comprises of breathing exercises, meditation and yogasanas that
stretch and strengthen various muscle groups. It is a good substitute for avoiding medicines
that are harmful for our mental and physical health.

One of the main benefits of practicing yoga is that it helps manage stress. Stress is
common these days and is known to have devastating effects on one’s body and mind. Due
to stress people develop serious problems like sleeping disorder, neck pain, back pain,
headaches, rapid heart rate, sweaty palms, dissatisfaction, anger, insomnia and inability to
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concentrate. Yoga is known to be really effective in curing these kinds of problems over a
period of time. It helps a person in managing stress by meditation and breathing exercise
and improves a person’s mental well being. Regular practice creates mental clarity and
calmness there by relaxing the mind.

Conclusion

Yoga is a very useful practice which is easy to do and helps in getting rid of certain serious
health problems that are common in today’s life style.

. The Education of a Girl Child

Girls’ education is highly important and crucial for the development of a nation. There is a
very famous saying in Africa which says, “If you educate a man, you educate an individual,
but if you educate a woman, you educate a nation. In the light of the above mentioned
axiom, empowering the girl child with education is the best and the wisest option a nation
could have in empowering itself.” In the big vast world of ours, many nations in African,
Asian, and South American continents are still grappling with the problems of
backwardness. Hunger, poverty, unemployment, poor standards of living, poor medical
facilities, poor education, etc, are still lingering on in the developing countries.
Empowering girl child with education is the only panacea. An educated girl will have the
power to make her dreams come true. Only an educated girl can earn her own living and
free in true sense. With her education, not only she will be benefitted, she will spread the
light of education all around her. She will teach her brothers, sisters, neighbours, and other
adults, this will lead to a positive ripple effect that will lead to skill enhancement and the
prospects of being hired by competent companies will increase. Besides, educating a girl
child ensures the surety of education of the other family members. Besides, educating a girl
is the best investment. By educating the girl child, the family is making a sound financial
investment. When the girl child is educated, she will reduce the financial burden of her
father and later her husband. India is fast developing country. The goal of complete
advancement is not possible until each and every Indian becomes not only highly educated
but also highly skilled. This task can only be accomplished with the girl’s education and
contributions. So, empowering girl child with education is the best investment a nation can
make!
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Operations of Integers

A. 1. (iv), 2. (iii), 3. (i)

B. 1. -85+ (-7) 2. 23+ (-13)
=-85-7=-92 =23-13=10
3. -25+35=10 4. -19+5=-14
5. 22 +(-33) =22-33 =-11
C. 1. 7-(-10)=-7+10=3 2. -13-23=-36
3. 9-(-5)=9+5=14 4. -38-(—44)=-38+44=6
5. 64— (-73)=-64+73=9 6. 29-(-8)=29+8=37
D. 1. -199+___  =-31 2. (7)+_____ =-12
_=-31+19 =-12+7
=-12 =-5
E. 1. (-5)*=-5x-5x-5x-5 2. (=3)* x(-2)* x(-1*
=625 =-3x-3x-3x-3x-2x-2x-1x-1x-1x-1
=81x4x1x1
=324
3. (—4)° x(-10)? =4 x -4 x—4x-10x-10
=—-64 x100
=-6400
4. (1)’ x(=1)? x(=1)° -1x-1x1=1
5. (-2)% = 2x2x2x-2x-2x-2x-2-2
=256
6. (-3)* =-3x-3x-3x-3x
=81
F. 5x[25+{(-4)x (16 —8+2)}]
5x[25+{(—4) x (16 — 4)}]
5x[25+{(—4) x (12)}
5x[25 + (—48)}
5x[-23]=-115
G. +4 +4 +4 +4 +4 +4 +4
NN NN
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0
S

A.
B

Multiplication and Division of Integers

(iii), 2. (ii)

8 x (-5) =—40;

-8 x4=-32
(-3)x(—4)=3x4=12
2x(4)=2x4=8
16 x (-12) =-192
0x-64=0

(—24) x(-2)

24 x2 =48

(=1D" % (=1
=1x1=1

1x(=3)x9

1=-27

(=5) x(—4) x10x (-1)
5x4x10x(-1)

200 (~1) = —200

~120 +(-5) = % =24

5/120 (24

~10{

20
-20

0

1312 = (41) =212 _ 3
41
411312)32
“123)
82
_82

0

. —58+(-2) =

2. 4x(-13) = -52;

. =5x(-6)=5x6=30

. —15x-75=15 x 75 = 1125
L 13 x5 x (=7) x (<17)

13x5x7x17=7735

. (~260) x (~10)

=260x10 = 2600

. —1x-874

=1x874 =874

. (=5) x (=12) x (—4)

5x12x (—4) =60 x (—4) = —240

58 _

5

2] 58129
_a
18
—-18

0

29

1926

81920240

~16)
32
~32

0

1926 :+(-8) = = = 240




~1476 56

G. 1. —1476+123= =22 _ 13 2. 56+(-7)=2__8
123 7
123(1476\12 756 | 8
“123) 56
246 0
_246
_ 0
3. 210+(-30)= 220 _ 7 4 —96+(—24y=—20_96 _4
30 24 24
30/210\7 2496 |4
-210 —96
_ 0 _ 0
ih AIIEEET
[ @

Properties of Integers
A. 1. (i), 2. (iv)
B. 1. Additive Identity, 2. Distributive property, 3. Commutative property,
4. Identity property, 5. Multiplicative Inverse, 6. Associative Property,
7. Additive Inverse,
8. Commutative property, 9. Identity property, 10. Distributive property
1. a(12-5),2.7(ab), 3.5+ 8,4.1(—4),5.0
D. 1. 7x[4+(-2)]=-8x4+8xx
7x[4-2]=-32+8x
7x2=-32+8x
14 + 32 =8x
=46 =8x
4§6 =X,Xx= 5%
2. xx[7+(-8)]=15x7 +(-8) x15
x[+7 — 8] =105+ (-120)
x x(=1)=105-120
-x=-15
x =15

e



3. 5x[(=6) + x]=15x(-6) + 5x10
-30+ 5x=-90+ 50

=30+ 5x =-40
5x =-40+ 30
5x =-10
X = -10 =-2
5
“ Worksheet-4

Multiplication and Division of Fractions
A. 1. (i), 2. (iii), 3. (ii), 4. (i)
B. 1. unit, 2. like, 3. infinite, 4. more, 5. 3
C. 1. 279-18.3 +123.42-45.58
=123.42 +27.9 - 45.58 -18.3
=151.32 -63.88
=
2. Let the number be x and y
Product of two number = 2.0016

xxy =20016
x =072
072x y = 20016
g 220006
072
5. x47-4 =82
15 5
2 4
X =0——/—
5 15
I
5 15
L.CM of 5, 15, is 15
126-109 117
5 15
D. 1. 2x51_2,21_2x21_42
5 74 5 4 5x4 20



2. 62><Z 3. 3é><§:§><E
5 9 7 5 7 5
32 7 32x7 224 25x3 75 15
= — X — = = — s =— = —
5 9 5x9 45 7x5 35 7
E. 1. Z—Z 2. é_5 :>é_§
3 9 9 1
2 7 1 7x1 7 4 1 4x1 4
— = —X— = = — =—X—= = —
3 1 3 2 3x2 6 9 5 9x5 45
3. L:E_Z
13+7 13

_6 1_6x1_6
1377 13x7 91

h, B Vorsteers 0

Introduction to Rational Numbers

A. 1. (iv), 2. (ii), 3. (i)
B. 1. True, 2. True, 3. True, 4. True, 5. True, 6. True
c. 23
3 -5
D. 1. -3,-30,-45; 2.-5,12,-25; 3.20,20,-12 4.-6,-21,14

., B tosieers

Comparison of Rational Numbers
A. 1. False, 2. True, 3. False, 4. True, 5. True, 6. False
. 5,2.53.<,4.<,5.>,6.>,7.<,8.<,9. =
C. 1. _—1; 2. _—3; 3. 2; 4. _—1,' 5. l; 6.0
6 7 3 4 4
-13 -5 2 -13 -5x5 2x3

&
—_

D. 1. —,—,= = , ,
15 3 -5 15  3x5 -5x3
~-13 -25 6
15715 "-15
In ascending order,:_—25,_—13,_—6
15 15 15
513 2
371575



5
7x5 —-13x3 -2x15

"3x5" 5x3 " 15x1
5 35 -39 -30

“15°-157 15 ' 15

39 35 -30 5

15 "-15" 15 "15

In ascending order =

Or:—_l?’,l,_zll

53 73
3212 3-=2-12
5’5’5’5 55’5’5
37 -2 -6
511" 3711

By converting it into the fractions having the same denominator.
-3 -3x33 -99
5 5x33 165
7 7x15 105
11 11x15 165
-2 -2x55 -110
3 3x55 165
6 —6x15 -90
11 11x15 165

~110 -9 90 105
< < <
165 1655 165 165

e e

In ascending order =

Or, <—< —< —
3 5 11 11

<10 1 -12

15 727 10

_10x2 1x15 —12x3
15x2"2x15" 10x3

20 15 36
30 30" 30
In descending order:E,_—zo,_—36
300 30 © 30
o _1-10 12
215 10

33



) 7 35
-10" 5 -6
_ 7x3  3x6 b5xb
- -10x3" 5x6 —6x5
21 -18 25
30" 30 " -30

-18 21 25
30 "-30" =30
Or 37 5
5'-10" -6
-3 1 -3 -2x2 2x2
_E”E” 2x1 " 2x1

In descending order =

In descending order = —,—,—,

[NCHETN

134
22" 2

_§ —3x3 2x6 2x6
6" 2x3 " 6x1 "6x1

Or :2/§/
6

W T e

Operations of Rational Numbers
A. 1. (iv), 2. (),

JEREE
(S

+

W | =
W=

4]



4. x+(_—5j:2
8 9

x=§+§L.C.M. is9 and 8is 72

L _16+45 61
72 72
12243 2 T, 7
7 7 14
_-5+3_-2 _15+7 _ -8 _
7 7 1 4
3 £+(—_9j 4. ﬂ+(‘—5jL.c.M. of4,8,is 8
13 \13 48
6 9 6-9 -3 31 5 -62-5 67
13 13 13 13 "4 8 8 8
1. 1 3 1CM of3,4,is 12 2. ‘—1—(‘—9)=‘—1+2
3 4 1 (7)1 7
4-9 -5 _T7+9_2
T2 12 77
3 —_1_(—_18):1+§ 4. 1—(_—5JL.C.M.of3,6=6
1 (11) 1 11 3 16
_11+18 29 _1,5_2+5_ 7
1 11 36 6 6

. Positive rational number.

The sum of two rational number = -2
Let x, y be the number
X+y=-2
-14
X=—
5

Put the value of x

35



x—5_—_3
8 2
-3 (—5) -3 5
X=——|— — 4=
2 8 2 8
_—12+5 -7
8 8
G _(—_2):—_1
3 6
2 -1
X+—=—
3 6
-1 2
X=——-=
6 3
-1-4 -5
X=——"=—
6 6

H. 1. rational, 2. rational

“ Worksheet-8

°
Multiplication and Division of Rational Numbers
A. 1. 1,2.n0,3.-1,4.not, 5. 1/a, 6. a, 7. positive, 8. negative
b1 73 7x5 3 2 3(2)o 2D 5
11 4 11x4 44 7 4 7 x4 28
s 2,5, (x5 _10 N NC TERE
9 11 9x11 99 17 -4 17 4 17x4 68
c. 1. 3D _3x(=7) -2 g, 2,5 _(9x5_-45
5 8 5x 8 40 2 4 2x4 8
6.5 _(6)x5_-30 _-10 , (D 6_-2x6_-12_ -4
11 3 11x3 33 11 3 7 3x7 21 7
D. 1.7 —— 5. 2
4 19 5
E. Let the number be x
-1 -23
X—=—
6 9
__—23><—6
9
_ —23x-6 &
9 3



F. Letthe number be x
-33 -11
— sx=——
6 4

G. 1. Commutative Property, 2. Associative Property, 3. Multiplicative Identity,
4. Property of zero

h, B Vorsrees L

Terminating and Non-Terminating Decimals

A. 1. T,2.T,3.T,4. NT,5.NT,6.NT,7. T
B. 1. (i), 2. (iii), 3.
C. 1. True, 2. True, 3. False, 4. False
D. Column A Column B Column A Column B
1 0.5 1 0.33333
2 3
i 0.04 1 0.142857
25 7
i 0.016 § 00.833
215 6

. L Vosweecio LT

1,28
5 2 10
15 _
100
o5 B 1
100 20
s o552
100 4
21

10

A. 1

3. i><§:

20 5

5. 21

015

L7

Decimals
2 A4 o,
25 4 100
4 3B _7 _o7s
4 25 100
2. 003 = i
100
4., 525 = @ = 5l
100 4
6. 933 = % = 9£
100 100




C. 1. Yes, 2. No, 3. Yes, 4. Yes, 5. No, 6. Yes
D. 1. (ii), 2. (iii), 3. (i)
E. 1. 4785.00, 2.0.59, 3.3, 4.384.5
F. 1. (1564 —864) %100 2. (1538 -063) x 500
=7x100 =700 =0.908 x 500 = 454
04

G. 1. 64 +10000=——-—=0.0004
10000

2. 0.0578 +1000 = 00578 = 0.0000578
1000

3. 20010+100= 20010 =2.001
100

4. 98764 +10= % =9.8764

L, B vorsheetid

Exponential Notation

A. 1. (i), 2. (ii)

2 2
B. The reciprocal of (—%) _ 1 :(ﬁj

~16  ~(2x2x2x2) _(—2)

181  (3x3x3x3) \ 3

Foq 8 __2x2x2 ‘(2]3 , 343 _ Tx7x7 _(1)3
"7 27 —(3x3x3) (3 " 1000 10x10x10 (10
3 2_(7x3)1_(7x3j1 = (-1)* _1(__1j2
S 64 (64) 64 T 28 7x(2* 7\ 2
G. 1 B:_—l,E:9 2. B:Z,E:m
2 9
3. B:E,E:5 4. B:_—3,E:5
2 7



H.

1.

4 4 4 4 4 (
—X— X — X — X — =
-5 -5 -5 -5 -5
3 3 3 3 3 3 3
2. —X—X—X—X—X—X—X
4 4 4 4 4 4 4

4
-5
3_

4

)5

(s

i

., B vesresiz S

A.
B.

G.

1.
1.

3.

1.

8
%—28_6=22=4

5
:—3235323229
81,2 .0

ﬂIZbSC _ 485 b2—5x1
a

3

a3xb‘3=Z—3

Laws of Exponents

_ (ﬁ)m _ (‘_2)4 _2_16
5 5) 5 625

(_?zjz =(—%)2 ) (—322)2 v

3 -5%

9

N
/N
L |
w(fl
N

w1
X
T/
W | =
L

5 1 57 5’

s

> (—%) =(_32‘°’)3 -

True, 2. True, 3. False, 4. True, 5. True

4
;3) 4.8
4
3
2. 1—2—43_2:41:4
27
4. ?—2773224=2X2><2><2=16
) x73y1;’ :x7_3xy10—5
Xy
:x4y5

-1325

19683

(5G5S

L vesresis S

A.
B.

1.
1.

Scientific Notation of a Rational Number

(ii), 2. (iv)
6.38x10"

6.38 x 1000000000

= 63800000000

2. 8702x10°%
8702 8702

10 100000000
= 0.00000008702



A A e e

7380000000
=738x107
=7.38x10’
0.389400000
=03894x107°
=3.894x1072x107°
=3.894x107
0.00000034
=34x107°
=34x10"x10°
=34x107

100, 2. 100000

. 29730000000

=2973x107
=2973x10"

. 0.000076428

=76420x107*
=76428x107* x10™*
=76428x107°

. 83000000000

=83x10’
=83x10"

False, 2. True, 3. False, 4. True

3.84x108 m, 2. 3.00x108 m/s, 3. 1.2756x107 m, 4. 1.4x109 m,
1.0x1011, 6. 1.2x1010 years, 7. 3.0x1020 m, 8. 6.023x1022,
1.353x109 km3, 10. 1.027x109

“ Worksheet-14

A.
B.

Ratio and Proportion
1/7, 2.1/5, 3.2/9
4:12::1:3 2.5:8::10:y

§_4 ) X_7

x 5 6 8

4x =8x5 =xx8=6x7
4x =40 8x =42
6_7

7 14

=7xx=6x14

7x =84

x:87—4:12



D. 1. (a)20,(b)5/7,(c) 1, (d)2/9, (e) 90%, (f) 0.8, (g) 2/3, (h) 0.75, (i) 1/3, () 25%
2. (a)7/8, (b) 100, (c) 04, (d) 1/2, () 66.7%, (£) 0.75, (g) 83.3%, (h) 1/3,

E.

L, B Vorsweetis S

(i) 0.875, (j) 1/4
A +B=1250
A:B:=2:3
2+3=5

A=$x2=500

1250

B x 3 =750

Price of 8 m ribbon = ¥ 212
Price of 1 m ribbon is 212 + 8 = 26.5

8/212126.5
“16}
52
48
40
40
0

Price of 18 m ribbon =18 x 26.5 =477

Let the sides of triangle are x, y, z

A =xcm, B =2x cm, C =3xcm

Perimeter of triangle = 36 cm
A+B+C=36cm

X+ 2x+3x =36
6x=36,x=6

A=6cm

B=2x6=12cm

C=3x6=18cm

Percentage

A. 1. (i), 2. (i), 3. (iii)

B. 1. 3% =——=003
100

3

2071

2. 2071%=—=-—=2071
100

44

3. 50.5% = 205 5050
100



. 016 _ 16% 2. 093 _ 93% 3. L 80%
100 100 100

D. 1. §><100=@=55.5%
9 9

2. g><100 =35x2=70%
50

3. 5z x100= 17 %100 = 566 .6%
3 3
E. @x82=15x8.2=123 F. £x502E28
100 100 2
80 6
G. —x184=8x184=1472 H. ——x2500 =25x6 =150
100 100
I. 1. §x100=@ =66.6% 2. £x100=@ =25%
12 12 18 18
3. 27 x100 = 2700 150% 4. 3000 %100 =20000%
18 18 15

J. 625 = 4x625=25%
100

K. Total question =40

Correctly answered = 32

Percentage of correctly answered questions = Z—é x100 = 80%

L, B Vorsieetio S

Profit, Loss and Simple Interest
A. 1. C.P. =7282
Profit =208
S.P. =7282 + 208 = 7490 [CP + Profit]

Profit % = M = 2.85% Profit
7282

X 100}

2. SP =572
Profit =72

CP =572 -72 =500 [SP — Profit]

Profit % = 72 x100=14.4%
500

2



3. CP =9684
Profit =273
SP = 9684 + 273

= 9957

Profit % = ﬂ x 100
9684

=2.819%
4. CP =6,76,000
Loss = 18,500
SP =6,76,000 — 18,500 [CP - Loss]
=6,57,500

18,500 <100 [Lossxloo}
6,76,000 P

= 2.736%
5. SP =7894
Loss =306
CP =7894 + 306 [SP + Loss]

= 8200

Loss% = ﬁ x 100
8200

Loss% =

=373%
1. (i), 2. (iv), 3. (iv), 4. (iv)
1. Profits =¥ 1800
R = 5%
Time =1 year
PxRxT 1800x5x1
100 100

Amount =P +SI = 1800 + 90 =3 1890
2. Profits =3 2600
R = 12%
Time = 3 years
PxRxT 2600x12x3
100 100

Amount = 936 + 2600 =% 3536

SI= =390

SI= =3936

43



P =% 3125

R = 15%

T =73 days

T =73/365

_ PxRxT 3125x15x73
100 100 x 365

Amount =S.I+P
=93.75 + 3125
=33218.75

P =3 5660
R = 11%

S.I =%93.75

T:9mon’chs:2=E
12 4

ST = 5660x11x 3
100x 4

Amount = ¥6126.95
P =%400
SI =378

=3466.95

T = 1% years = 1.5
R - SIx100 _ 78x100
PxT  400x15
P =%400
Amount =3 512
SI = 512-400=112
R =14%
SIx100 112x100
Rx P 14 x 400

Amount =3 2400

=13%

T=

= 2 years

Rate =15%
Time =4 years
gl = PxRxT
100
gl = Px15x4 =60P
100 100

44



_s3P
5

Amount =P + SI

2400 = p 4 oL _ 2P+ 3P
5 5

SI

2400 = L
5

P = 2400x 2
8

P =300x5
P =% 1500
Rajesh borrowed =3 2000
Interest = 8% per annum
Time period = 6 years
Given amount =% 2600

Cost of watch =7?
_ PxRxT 2000x8x6

SI 100 0 3960
Amount = P+SI
= 2000 + 960 = 2960
Cost of watch = 2960- 2600 =3 360
. L CP =%320
SP =% 400
gain =400 -320 =80
. ain
gain percent = gC_P x100
_ 803x21)00 _ 950,
2. CP =% 250
SP =%235
Loss =250-235=15
Loss percent = % x100 [Lolis X 100}

=6%

45



3. CP =300 4. CP =%720

Profit =% 75 Loss =363
Profit % = ﬁ x 100 Loss% = ﬁ x 100
300 720
=25% =8.75%
L. W worsheet-17 SN .
° °

Basic of Algebraic Expressions

A. 1. x12, 2.4a%b*c®, 3.43p°g"

B. 1. axaxbxbxbxb 2. 2x2x2xaxaxaxbxbxbxb

C. 1. 43,2.-14a,3.5y3

D. 1. 4a+ab 2. 3a*+2x -y’
=4x2+2x3 =3(2)*+2(2) - (-3)*
=8+6 =3(4)+4-9
=14 =12+4-9

=7

3. dxy® —2yz® +4x°2
=4 x2x(=3)* =2x(=3) x(-2)* + 4 x(2)* x (-2)
=(8x9)+(6x4)+16x(-2)
=72+24-32
=64

4. 5x+vy° +3xyz+bx
=5x2+(-3)% +3x2x(-3)x(-2) + 3x2
=10+ (-27)+36 +6

=17 +42

=25
E. 1. (i), 2. (ii), 3. (iii)
F. 1. 8(x+y), 2. x+y+8, 3. (b+c)-a, 4. a/b +ab

“ Worksheet-18

Operations on Algebraic Expressions

A. 1. (ii), 2. (ii), 3. (iii), 4. (ii), 5. (iii)



B. 1. 12P-8P =4P 2. 7a-3a=4a

C. 1. 12a*y -8a’y -13a’y —14a’y 2. 16ab—7ab—10ab —9ab
=124’y - 21a’*y — 144’y =16ab —17ab —9ab
=12a*y —35a%y =16ab — 26ab
=234’y = -10ab

3. 7mn-10-12mn—-2-9mn + 27 4. 4xyz-—3xyz—7xyz
=-19mn-12-9mn + 27 = Xyz—7xyz
=-28mn +15 =-6xyz
=15-28mn

D. 1. 8x* -3y’ 2. 14a* -7ab
—5x? +y? ~11a* — 8ab
3x* —4y? 3a® + ab

E. P=4x’+3x*>-4x+5
Q=6x>+5x"+4x-2
+10x° +8x* -3
P+a=10x"+8x*-3
(P+a)—-R = 10x°+8x*-3
= —6x°—4x>+3
4x° +12x* + 0
(P+Q)-R=4x>+12x"
F. =7x’yz’ x46xy’z’
(=7x* x46x") x (y' xy*) x (2> x %)

_322x(2+1) % y1+2 + Z3+3
=-322x°y *z°

“ Worksheet-19

Solution of Linear Equations
A. 1. (iv), 2. (i), 3. (iv)
B. 1. 2xam, 2. x+ 2x, 3. x + 2x =60, 4. x =20

C. 1. bx=2x+7 2. bx =8+ 3x
=5x—-+2x =7 =5x-3x=8
3 2

[T



3. 2x=12-4x
6x=12
12

X =—=
6
x=2

2

D. An equation between two variables that gives a straight line when plotted on a graph.

E. To perform same operation on both sides of formula.
9 18

5775
=/gx:/gx2
x=2
~ns Yy

Application of Linear Equations

A. 1. (iii), 2. (iii), 3. (ii), 4. (ii), 5. (iii)
B. 1. add, 2. equation, 3. 42, 4. solution, 5. 55
C. 1. 7x=13x-12 2. According to questions
7x —=13x =-12 let x be the doneted money
—6x =-12 x + (x +125) =975
x=2 2x +125=975
2x =975-125
2x* =850
X = ? =425
=3425
3. Let the number be x
45 + %x =3x
3x-X =45
2
=6x—-—x=90
5x =90
X = 9—; =18



4. Travelled by train = Z?ka
Travelled by bus = gkm

Travelled by car = ikm

Travelled by foot = 3 km

(Zx X X j
= —+—+—+4+3|=x
5 3 4

L.CM.of 5, 3, 4is 60
_ 24x+20x +15x +180 s
60

59x +180 =16x
59x —60x =180
—x =-180
x =180 km
5. Let x be the age of girl and her father according to question

X+ (x +28) =50

X+ x+28=56,2x =50-28

2x =22

2

x =11
Age of girl =11 years
Age of her father = (11 + 28) = 39 years

o, L vz S

Pairs of Angles

A. 1. (i), 2. (i), 3. (iii), 4. (iii), 5. (iii)
B. 1. True, 2. False, 3. True, 4. True, 5. True
C. 1. 90°,2.180° 3. supplementary, 4. linear pair, 5. obtuse
D. 1. z+55°=180° (linear pair)
z =180°-55°
z=125°



zand y are vertical angles
Lz=/1Ly
Zy =125°
x and 55° are vertical angles
So, /x =55°
2. 40°+x +25°=180° (linear pair)
= 65%+x =180°
= x =180°-65°
= x =115°
Now, 40°+y =180° (linear pair)
y =180°-40°
y =140°
Now, z and 40° are vertical pair angles
So, z =40°

T

® °
Parallel Lines and Transversal
(iv), 2. (1), 3. (i), 4. (ii), 5. (ii), 6. (ii)
La=Lg, /n=,b, Lc=Le, L =/d
La=Lc, [n=LL, Lg=Le, /b =,d
Zb=/f, /g =/c
Za=/e, /n=/d
Za+sn, /b+Lg, Lc+/f, Le=/d
a+h=180°
140°+h =180°
h =180°-140°
h = 40°
Za=/g [vertical angles]
/g =140°
Zh=2/b [pair of vertical angle]
Zb =40°

Za=Lc [corresponding angles]

A.
B

SANER L A el o



Zc =140°

Lf =2h [corresponding angles]
Zf =40°
Ze=Le [vertical angles]
Ze =140°
Now, Zd = Zf [vertical angles]
Zd =40°

C. 1. £2=45° /3=45 £6=45° /7 =45° /4 =135° /8 =135°
2. £1=80°, £2=100°

“ Worksheet-23

Triangles and Their Properties
. (iv), 2. (i), 3. (iii)
. exterior, 2. altitude, 3. cannot, 4. one

. False, 2. False, 3. True, 4. False, 5. False, 6. True
A

oS0 w®p
S YUY

B D C

AADC

ZC +60°+70°=180° (Angle sum properly)
ZC +130°=180°

ZC =180°-130°

ZC =50°

ZC+ /B =180° (linear pair)
ZB =180°-50°=130°

AABD

Za+ Zb+30°=180°

Za+160°=180°

Za=180°-160°

Za=20°

Hence, required values are a = 20°,b =130°, ¢ = 50°

4

U

U

U

U

=
=
=
=



Q $ R
In APQS we have
Za+60°+55°=180°
= Za+115°=180°
= Za=180°-115°
= Za=65°

Za+ /b =180°
= 65°+4f =180°
= £b=180°-65°
= Zb=115°
In APSR we have
Zb+ Zc+40°=180°
= 115°+Zc+40°=180°
= Zc+115°=180°
= Lc=25°

(angle sum properly)

(liner pair)

(angle sum properly)

Hences, required values are a =65°,b =115°, ¢ = 25°

Zx =2y +30°

£z =90°

In AXYZ

Zx+ Ly + £z =180°

Zy +(ZLy +30°) +90°=180°
2y +120°=180°

2y +180°-120°=60°

2y =60°

60°

Yy = =30°
Y 2

Zy =30°

(angle sum property)

52



L, b vesheaze S

Congruent Figures

A. 1. (iii), 2. (iii), 3. (ii), 4. (i)

B. 1. PQ, 2. degree measure, 3. angles

C. 1. True, 2. True, 3. False, 4. True, 5. False, 6. True, 7. False, 8. True, 9. False, 10. True,
11. True, 12. True, 13. True, 14. True

., B tosweerzs S

Symmetry

A. 1. (iv), 2. (iii), 3. (iii), 4. (i)

B. 1. 1,2.2,2;3.Isosceles, 4., 5. M and W
C. 1. 423,3.2
D

. Shape Centre of Rotation Order of Rotation Angles

Square Intersecting point 4 90°

of diagonal
Rectangle Intersecting point 2 180°

of diagonal
Rhombus Intersecting point 2 180°

of diagonal
Equilateral Intersecting point 3 120°
triangle of median
Regular Intersecting point 6 60°
Hexagon of diagonal
Circle Centre Infinite At every point
Semi-Circle Mid point 1 360°

of diameter

., N Woswearze S

Representing 3D in 2D

A. 1. (iv), 2. (i), 3. (ii), 4. (iv)
B. 1. 12,2.sphere, 3.1,4.n0,5.5

iz



2 cm
3 cm

5cm

Three different isometric slectches are :

b Top
.- Side
F:ont
[ L

Construction
A. 1. (i), 2., 3. (ii), 4. ()
B. 1. 60° 2. hypotenuse, 3. 45°, 4. less than 90°

4

\

1.
-C

, o
5cm //ji>§\\\igi\r\
x“[* °
/ 903‘ " A 30 R
B 5cm

5cm

4 cm
SSS Criterion RHS Criterion SAS Criterion ASA Criterion
° °

Perimeter
. (iii), 2. (ii), 3. (iv), 4. (iii)

. True, 2. True, 3. True

N = »
_ =

. Perimeter = adding all the sides values
Perimeter=1.5+3.5+35+15+1+15=125

4



2. Perimeter of square = 4 x side

:4x7;
=28i m
3. Perimeter of triangle = add all three sides
Perimeter =2.3 + 8 + 8.6
=189 cm
4. Perimeter of rectangle = 2(I +b)
= 2(20% +39 %)
A
- 2{123 + 238}
6,
= 21202
. 1. C=2mnr 2. C=2mr
C=2x314x52 C=2x314x%x96
=326.56 cm =602.88 cm
3. C=2nar 4. C=2mnr
C=2x314x40 C=2x314x34
=2512cm =21352cm
1. C=24cm 2. C=42cm
C:nd,dz£ d=£:13.37cm
T 314
= % =764 cm
3. C=84cm 4. 364 cm
d=£=26.75cm d=ﬁ=11.59cm
314 314
1. First perimater of rectangle = 2(/ +b)
=2(38 + 24)
=124 cm
Now circum of circle = tA = 3.14 x 24
75.36 cm

Perimeter of Figure = 124 + 75.36 = 199.36 cm
55



2. Radius of quadrant =31 m

Perimeter of given shapes = %n?;l +2(31)

1 22*7
=—X

x31+2x31

_o4 +62
7
=4871+62=11071
3. Total perimeter = Perimeter of triangle + Perimeter of semicircle
Primeter of triangle sum of all sider =14 + 21+ 21 = 56cm
Perimeter of semicircle =17 x7 + 14

_22 x7+14
7
=22+14=36cm
Total perimeter = (56 + 36) cm
=92cm
4. Total perimeter = 2mr % nr+2r
:ZXgXS.l—lxgx3.1+ 2x31
7 2 7
=1946 -48+6.2

=2566-4.8=2086m

“ Worksheet-29

°
Area
A. 1. (i), 2. (iv), 3., 4. (ii), 5. (i), 6. (iii)
B. 1. I=4cm,b=>5cm 2. 1=9m,b=7cm
area of rectangle =/xb =Ixb
=(4x5)cm =(9x7)cm
=20cm” =63cm’
3. 1=126cm,b=48cm 4. 1 =35cm,b=45cm
=Ixb=(126x4.8)cm” =Ixb=(35x45)cm*
=6048cm”® =1575cm”

C. 1 a=5cm
Area of square =4’
(5% 5)cm* = 25¢m



2. 7cm
Area of square = (7 x7)cm’
=49cm*

4. 25 cm

Area of square = (24 x 2.4) cm’

=576 cm’
. 1. dianmeter (d) = 24 cm

Area of circle = mr?

r=£=%=12cm
2 2

Area of circle = 314 x (12)°
= 45216 cm”

3. d=42cm

r:£:21cm
2

Area = 3.14 x 21 x 21

3. 3.6cm
Area of square = (36 x 36)cm’
=1296cm”*

2. d=84cm
r:%zéﬂcm
2

Area of circle = nr?

=3.14 x (42) x 42

= 5538.96 cm*
4. d=205cm
r= 2—25 =1025cm

Area = 3.14 x (102.5) (102.5)

=1384.74 cm” = 32.989 cm
1.
A |2cm
2em B 2 cm
C 2 cm
11 cm
Area of square A =2x 2 =4cm’
Area of square B =6 x2 =12cm?
Area of square C =11x 2 = 22¢cm?
Total area = (4 + 12 + 22)cm?
=38cm’*
2. A 2em
4 cm 4.5 cm
B 1cm

C 1cm

3 cm

57



Area of rectangle A =3x2=6cm’

Area of rectangle B = (4 + 4.5+ 3)cm x1cm
=(115x1) cm* =115cm*>

Area of rectangle C =1x 3 = 3cm?

Total area = (6 + 115+ 3)cm*

=203cm?
3. 20 cm
A 2 cm
ﬂ \i 15 cm
2 cm 2 cm

Area of rectangle A =20x 2 = 40cm’

Area of rectangle B =14 x 2 = 28cm’

Area of rectangle C =14 x 2 = 28cm”
Total area = (40 + 28 + 28)cm”

=96cm?
koo W worisheet-30 L 1/
® °
Bar Graph
A. 1. December or Oct., 2. September, November, December, Jan, Feb. , 3. 30
150

T 125

& 100

E 75

g 50

S 254

“ 0

Mon. Tues. Wed.  Thurs. Fri. Sat.
Days —»

1. Maximum students were absent in Friday and minimum students were absent in
Saturday

2. No. of absentees in Wed. = 135
No. of absentees in Fri. = 150
3. Monday and Thursday.



T 3507 400 380

250 1
% 300
8 200 1 350

1001 |150 | | 220

2005 2006 2007 2008 2009 2010
Year —»

“ Worksheet-31

°
Probability, Mean, Median and Mode
A. 1. ,2. (iv), 3. (iii), 4. (iv), 5. (iii)
B. 1,7,9,11, 16,16, 16,51, 81,101, 126
total runs score

Mean =
No. of player

Mean = @ =399
11

Mediam :(m+1j :4—20 =20
Mode =16
C. 33,36,38,39,43,43,44, 44, 46, 51
417

Mean =— =417
10

Mode =43, 44
D. 30 is the mode of the given data because 13 students got this result.
E. 20
F. 1. 28,2.17.5,3.47,4.10

G. Casel: Getting a tail in a toss of a coin.



Science-7
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° °
Food
A. 1. In potato-tuber, in ginger-rhizome
2. This is because of formation of fungus, dough smells foul.
3. These are replenished by some microorganisms and also by death of certain plants.
4. Leaves allow sunlight and carbon dioxide to enter through it which is needed in process

of photosynthesis.
B. 1. (b),2.(c), 3. (b)

C. i:i \\Sun Light

% » Chlorophyll
Carbondioxide = Oxygen

Water and Minerals <
Diagram Showing Photosynthesis

h, L Vorsweeris S

Food
Parasite, 2. Saprophyte, 3. Autotroph, 4.Symbiosis
(i), 2. (iv), 3. (i), 4. (v), 5. (ii)
Trees — autotroph, 2. Fish — heterotroph, 3. Mosquito — heterotroph, 4. Mushroom
— saprophyte

L. 1 tosieerza L

Nutrition in Animals and Humans
A. 1. (iii), 2. (i), 3. (iv), 4. (v), 5. (vi), 6. (i)

o= >

B. Animal Kind of Food Mode of Feeding
Snail Leaves and insect Scraping
Ant Food particles Chewing
Eagle Small animals Capturing and swallowing
Butterfly Nectar of flowers Siphoning
Mosquito Blood Sucking
House fly All most everything Siphoning



C. 1. Process of consuming proper amount of o
nutrients or energy.

2. Assimilation is the movement of digested food
molecules into the cells of the body where they
are used. For example— glucose is used in
respiration to provide energy. SalElaier

D. Diagram of Alimentary canal is aside :

Salivary glands

«— Oesophagus

Liver Stomach

~ <«——— Pancreas

Large intestine (colon)

Small intestine

L, N vorsweerzs L]

Nutrition in Animals and Humans

A. 1. digestion, 2. lichen, 3. pitcher plant, 4. nutrition, 5. symbiosis.

B. 1. Leaves, 2. oral dehydration solution, 3. pseudo podia, 4. four-chember stomach,
5. chlorophyll

C. 1. (i), 2. (1), 3. (i1), 4. (iv)

L, 0 vz S

Fibre to Fabric : Animal Fibres
1. True, 2. False, 3. True, 4. True, 5. False
1. Sericulture, 2. Silkworm, 3. Mulberry, 4. Cocoon

Do yourself.

Eggs Cocoon

\ Butterfly /

L, B Worsweerss L

Fibre to Fabric : Animal Fibres
A. 1. Lustrous, 2. To kill lice and protect body from catching

SOow»>

Caterpillar

3A
any disease, 3. Cotton, 4. Wool (M]
B. 1. Wool, silk; 2. rearing, worm; " %
3. thick hair on body; 4. air, (5] B
duct H E
Cconucor o[ STEJRJIJCJUJL]TJU]JR]E]
) A A [ R
[C] w[SJOJR[T]I[N]G] LY
0 [
w[S]CJOJU]JR]JI'|IN]G]
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(0]
(N




o B Worsieersn L

Heat
1. A breeze blowing towards sea from land especially at night.
2. The sensation of something hot is known as heat.
B. 1. (iv), 2. (iii), 3. (ii), 4. (i)
C. Do yourself.
D. 1. This is because jute sack is a insulator of heat and slows down melting of ice.
2. This is because mercury absorb heat energy due to which they apply a greater force and
moves away from each other.

h, . L Vorsweers S

Heat
A. 1. False, 2. True, 3. True, 4. True, 5. True
B. 1. 98.7°F 2. wood, rubber; 3. copper, iron; 4. light, 5. dark
C. Clinical Thermometer :
1. These are thermometer which are used in daily life.
2. These are of small size.
3. The range of clinical thermometer is about 35°C to 42°C.
Laboratory Thermometer :
1. Thermometer which are used in lab are known as laboratory thermometer.
2. These are of bigger size as compared to that of clinical thermometer.
3. It ranges from 0°C to 100°C.

L. L Wosweesa LT

Acids, Bases and Salts

A.

A. 1. curd, vinegar, lemon juice, window cleaner

2. soap, lime water

3. common salt, sugar
B. 1. Methyl orange and phenolphthalein, 2. Bitter in taste, 3. Acetic acid, citric acid
C. 1. sour, acid; 2. natural; 3. pink; 4. neutralise, salt

o L wersieecss LT

Acids, Bases and Salts

A. 1. sour, 2. bitter, 3. Lichen, 4. phenolphthalein, 5. neutral

B. 1. (i), 2. (i), 3. (iv), 4. (v), 5. (iii)

C. 1. No change, 2. No change, 3. No change, 4. Red, 5. Red, 6. No change, 7. Red,
8. No change

D. Do yourself.
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Physical and Chemical Changes
(d), 2. (d), 3. (c), 4. (d), 5. (b)
(d), 2. (c), 3. (a), 4. (b)

. When carbon dioxide is passed through lime water formation of calcium carbonate

takes place which make lime water milky.
This is because of production of carbon dioxide gas.

W T e

A. 1
B. 1.
C

Physical and Chemical Changes
physical, 2. reversible, 3. physical, 4. rusted, 5. chemical, substance
physical, 2. freezing, 3. chemical, 4. rusting, 5. crystallisation

. Physical Change : 1. Change in physical property of a substance.
2. Generally reversible, 3. Example— tearing of paper
Chemical Change : 1. Change in chemical property of a substance.
2. Generally irreversible, 3. Example— ripening of fruit.

o, L orsreersa S

Weather, Climate and Adaptations of Animals to Climate

A. Penguin
1. Have streamlined body to experience minimum resistance in water.
2. Keep high body temperature to remain active.
Polar Bear
1. Hind feet and legs are held flat and used as rudder.
2. Thick layer of fat to keep them warm while swimming.

B. 1. Climate, 2. Thermometer, 3. Humidity

C. 1. (iv), 2. (i), 3. (i), 4. (iii)

D. 1. Weather — short term state of atmosphere at a particular time and place.

Climate — Long term manifestation of weather in an area or country.

2. Humidity — Amount of water vapour present in air.

Rainfall — Amount of rain that falls on a single occasion.

L, L Wosweers L

A.

B.

1
4.
1

Weather, Climate and Adaptations of Animals to Climate
Temperature above 40°C, 2. Humid weather, 3. Temperature about 20°C,
Temperature less than 5°C, 5. Minimum temperature of a day

True, 2. True, 3. False



C. 1. temperature and pressure, 2. weather forecasting, 3. meteorology, meteorologist
4. penguin
1

D. (v), 2. (iii), 3. (i), 4. (ii), 5. (iv)

L, b orsieersn L

Wind, Storms and Cyclones

A. 1. (a),2.(d),3. ()
B. 1. lighter, 2. increased, 3. destructive 4. uneven, 5. more
C. 1. yes, 2. no, 3. yes, 4. yes, 5. no, 6. yes

., L vesrearss S

Wind, Storms and Cyclones
The lowest level of atmosphere of earth characterised by flow of air is called troposphere.
Pressure caused by atmosphere above an area.
Storm consisting of thunder and lightening produced by cloud.
System of wind rotating around center of low atmospheric pressure.
wind, 2. eye, 3. Tornado, 4. anemometer, 5. isolated tree.
(iii), 2. (i), 3. (ii), 4. (iv)
Air comprises of various gases, i.e., nitrogen, oxygen, carbon dioxide, water vapour, etc.
Biosphere.
It is known as eye.
It is a dark funnel shaped cloud that reaches ground from the sky.

b

A.

COoOF
PAN= =R aN =

Soil
A. Humus
Water
Clay
Sand
o Gravel
Layers of soil
B. 1. Soil, 2. Hydrocarbon, solvents, metal pollutants,
3. Brown-black material formed by decay of plants and animals is known as humus.
4. Pedogenesis, 5. Loam soil
C.

Amount of water

Rate of percolation = .
Percolation time

D. 1. humus, 2. afforestation, 3. soil erosion, 4. weathering
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Soil
. 1. Sandy Soil, 2. Clayey Soil, 3. Sandy Soil, 4. Loamy Soil, 5. Leaching

300
. Percolation rate or rate of percolation = ——— =12 ml/min

A

B 25

C. 1. (iv), 2. (i), 3. (v), 4. (iii), 5. (ii)

D. 1. Bedrock, because the rest are horizon but bedrock is layer of undisturb rock beneath
soil layer.
Humus, because the rest are types of soil.

L b Vorsreevion U

Respiration in Organisms

A. 1. cellular, 2. inhalation, 3. spiracles, 4. diaphragm, 5. breathing

B. 1. Skin and lungs, 2. leaves, 3. With help of gills, 4. Metabolic process that convert sugar
to acid.

C. Respiration : 1. It is a chemical process. 2. It is a complex process. 3. Oxygen breakdown
glucose to generate energy. 4. It generates energy. 5. It is of two types : aerobic and anaerobic
Breathing : 1. It is a physical process. 2. Include inhalation and exhalation. 3. Oxygen is
inhaled and carbon dioxide is exhaled. 4. It does not generate energy. 5. It is not classified
further.

L, N Woreevion L

Respiration in Organisms

A. 1. chest, 2. anaerobic, 3. yeast, 4. alcohol, 5. slows down
B. 1. (i), 2. (iv), 3. (v), 4. (i), 5. (i)
C. 1. skin, 2. trachea, 3. lungs and skin, 4. stomata, 5. gills, 6. lungs

ko L vosreeciin U

Transportation in Animals and Plants
A. 1. oxygen, 2. Arteries, 3. Urea, 4. ammonia, 5. uric acid
B

Aorta
Vena cava

Left Auricle
Right Auricle

Right Ventricle D\E_j Left ventricle

Sections of human heart




C. 1. Xylem and Phloem,
2. RBCs, WBCs, Blood platelets
3. Transpiration

W I e

Transportation in Animals and Plants
A. Arteries, veins, veins, Arteries, Arteries, veins, Arteries, Veins
B. 1. (iii), 2. (iv), 3. (i), 4. (v), 5. (ii)
C. Transpiration
Transpiration is the process by which plants absorb and distribute water through their roots
and release water vapour through their leaves by moving the water up through the stem,
and then the leaves release that moisture by evaporation.

L, L WosweevizA S

Reproduction in Plants

Budding

A.

Binary Fission

Regeneration

Fragmentation

SETTHETTE

B. 1. Pollination, because it is mode of sexual reproduction.
2. Bryophyllum, because it reproduce sexually.
3. Tissue culture, because others are categories of vegetative propagation.

C. Fertilization in flowering plants happens through
a process called pollination occurs when pollen Pollen grain
grains from the anther land on a stigma.
Fertilization occurs when one of the sperm cells
fuses with the egg inside of an ovule. After
fertilization occurs, ovule developed into a seed. Sperm nucleus

Sperm cells — I
Pollen tube
Female gametophyte

il-—— Polar nuclei

Integuments
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Reproduction in Plants

A. 1. reproduction, 2. bisexual, 3. pollination, 4. flowers, 5. vegetative
B. 1. (iv), 2. (i), 3. (viii), 4. (vii), 5. (vi), 6. (v), 7. (iii), 8. (ii)
C. 1. Reproduction through spore formation.

2. Rice, as it reproduce sexually.

3. Abranch.

. B Worsieecisa L

Motion and Time

A. second < minutes < hour < day < month < year.
B. Do yourself.
C. Number of oscillations = 20

Time taken = 10 sec

Time period of the pendulum = Time taken/No. of oscillations

Time period of the pendulum = 1/2 = 0.5 sec.
D. 1. Circular motion, 2. Speed, 3. Clock, 4. Uniform motion, 5. Distance = speed X time

W T e

Motion and Time

A. Distance (m) O 4 8 12 16 20
Time (s) 0 2 4 6 8 10

B. 1. 30 kg, 2.50 kg

C. 1. ms-1, 2. Distance, 3. Pendulum

D. 1. (v), 2 @), 3. (iv), 4. (i), 5. (ii1)

o L versweie S

Electric Current and Its Effects

Al —— 2. &/ 3. — 00—
4, —o— 5. —l|—— 6.
B. 1. (i), 2. v, 3. (iv), 4. (), 5. (iii)
C. 1. battery, 2. electric resistor, 3. electromagnet, 4. Hand Christian Oersted; 5. heating
D. (a), 2. (b), 3. (¢)
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° °
Light
A. 1. straight, 2. virtual, 3. plane, 4. real, 5. convex
B. Concave lens : 1. Form virtual image, 2. Image formed is erect, 3. Image is formed on
same side of lens
Convex lens : 1. Form both virtual real image, 2. Image is inverted, 3. Image is formed on
opposite side of lens.

C. 1. True, 2. True, 3. True, 4. False

D. Ray of light ML is inclined on side of prism AB which A
travels along line OL and further reflects as OP. When
white light passes through a glass prism, it spreads out %QX’
into a band of different colours called the spectrum of if--

- S O
light. The colours in the spectrum are violet, indigo, 7 \r\
p
blue, green, yellow, orange and red. M
B C

T e

Water : A Precious Resource
water, 2. 72, 3. Johads, 4. (i) solid, (ii) liquid, (iii) gas; 5. wastage
Turn off tap while not in use.

>

NerrmrNOo R 0=

Collect rain water for household purpose.

Adequate amount of water to be taken for drinking.
Use a low flow shower head faucet aerators.

Use drip irrigation system.

True, 2. True, 3. False, 4. False, 5. True

Process of seeping water into empty spaces of ground.
It is level below which ground is saturated with water.

L & ok S

Forests : Our Lifeline
A. 1. (d), 2. (c), 3. (c), 4. (¢), 5. (¢)
B. 1. Gum, 2. Medicine, 3. Wood, 4. Paper, 5. Fruits and Vegetables




Provide shelter to a large
number of animals

A source of
medicinal plants

Provide us with
oxygen
Importance of
forests

Brings good
rainfall Prevents
floods
sy IZEEE Wy
°

Wastewater Story
A. 1. waste water, 2. sludge, 3. sewer, 4. ozone, 5. chlorine, 6. sewage, 7. urea,
8. contaminants, 9. eucalyptus.

(«|[s]c]u]o]c]¢

& <P & &

{
4000
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B. “Save water, save life”
C. 1. @v), 2. (@), 3. (v), 4. (i1), 5. (iii)



Social Science-7
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A.
B.

C.

1.

History : When, Where and How
(©), 2. (a), 3. (a), 4. (b), 5. (¢)

1. Minhaj-i-Siraj, 2. Indian poets, 3. rich people, rulers, monasteries; 4. libraries, archives;
5. scribes

1.

‘ Worksheet-2

(iv), 2. (iii), 3. (1), 4. (v), 5. (i)

. 1L

King and Kingdoms in the Early Medieval Period
(v), 2. (i), 3. (vi), 4. (iv), 5. (iii), 6. (ii)
This region lies between river Krishna and Narmada. It had some muslim dynasties
namely Ahmadnagar, Berar, Bidar, Bijapur and Golconda.
South India saw the rise of powerful Kingdoms. The pallavas, the pandyas and the
cholas.
The cholas established a powerful empire in South India by Vijayalaya. They ruled in
South India for over four centuries. Rajaraja chola, Rajendra I were the most powerful
rulers of chola dynasty.
Irrigation during chola kingdom was much improved. A variety of methods were
applied for it. Many wells were dug; huge tanks were also constructed to collect water.
The kings themselves took interest in organizing labour and runners and extensive
planning.
The members of the sabha were the permanent levellers. However there were separate
committees to supervise different fields like gardens, temples, etc. Names of the eligible
persons to be members of the different committees were written on small tickets of palm
braves. The tickets were put into an earthen pot and a young boy was asked to take out
the tickets one by one for each committee. The person selected through this process was
declared to be the member of the committee of the sabha in the chola empire.
False, 2. True, 3. True

Worksheet-3 "

o= p

°
The Sultans of Delhi

five, 2. Slave, 3. Alauddin Khalji, 4. Suri

True, 2. True, 3. False, 4. False

. Ananga Pala of Tomar dynasty and Prithviraj Chauhan of Chauhan dynasty were

important Rajput rulers during the 12th century.
Qutbuddin Aibak-military general of Muhammad Ghori established the Slave dynasty.



He was followed by Iltutmish and Raziya, the first woman Sultan and Balban.
3. (i) Jalaluddin Khalji (1290-1296)

(ii) Alauddin Khalji (1296-1316)

(d), 2. (b), 3. (a)

Weh T e

The Mughal Empire
A. 1. Ranks and salaries were determined by a numerical value called Zat. The higher the
zat, the most prestigious was the noble’s position in court and the larger his salary.
He was the ruler of the Mangol tribes, China and Central Asia.
Bairam Khan.
Mansabdars received their salaries or revenues assignment known as jagirs.

Babur, 2. Safavid Khan, 3. high positions, 4. administration.
True, 2. False, 3. False
(i), 2. (v), 3. (iv), 4. (vi), 5. (iii), 6. (vii), 7. (i)

L, L veksreas ST

Architecture in the Medieval Period
(d), 2. (a), 3. (a), 4. (d)
Garbagriha, 2. moses and administration, 3. Iltutmish, 4. Somnath
Large stepped wells were called baolis.
A series of pictures showing the legendary Greek God Orpheus playing the flute.

———-pwto

B
C.
D.

A
B.
C

Mahmud Ghazni was the first independent ruler of the Ghaznavid dynasty.
This is the Qutub Minar.

It is located in Delhi.

Qutub-ud-Din-Aibak

L, b vorsweers S

Towns, Traders and Craftsmen

MN—MN—ﬁ—n

1. (d), 2. (b), 3. (b)
1. Virupuksha, 2. Lastwax, 3. Pushkar, 4. Domingo Paes.

oF»

. 1. Devadasis were the temple dancers who performed in front of the desty, rally and
masses in the many pillared hall of Virupuksha temple.
2. They made donations.
3. Town with permanent temple or temples such as Puri in Orrissa.
D. 1. (i), 2. (v), 3. (iv), 4. (iii), 5. (i)

11
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A
B.
C

B UUN ==

Mobile and Settled Communities
(b), 2. (a), 3. (b), 4. (a)
(iv), 2. (iii), 3. (ii), 4. (i)
Gond clan usually controlled the garh.
The Mughal forces attacked Garha Katanga in 1565.
The Ahoms introduced new method of rice clutivaiton.
. Craftspersons, pedlars and entertainers formed the itinerant groups.

L, b veksreas U

A.
B. 1
C

Religious Developments in the Medieval Period
d), 2. (¢), 3. (c), 4. (b)
False, 2. True, 3. False, 4. True
Suffis were muslims mystics who rejected hypocrisy in religion and emphasized love,
devotion to God and compassion for human beings.
Gurumukhi is the phonetic script in which the Guru Granth Sahib, Sikhism’s sacred
scripture, is written. The words of hymns and poetic verses of Guru Granth Sahib are
known as Gurbani.
Islam believes in one God, Allah. They also believe in giving alms.
Virashaiva movement was initiated by Basavanna and his companions like Allama
Prabhu and Akkamahadevi in Karnataka in mid 12th century.

L b Vorsweers S

D.

A
B.
C

G N =

Development of Regional Cultures
(1), 2. (v), 3. (iv), 4. (iii), 5. (ii)
(@), 2. (d), 3. (b), 4. (b)
Miniatures are small sized paintings generally done in water colour on cloth or paper.
Rice and fish curry.
Attribution of living souls to plants and inanimate objects and natural phenomena is
known as animism.

Wajid Ali Shah, the last Nawab of Awadh and the emperors.
Epics about knights and stories about canterbury tales.
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A.
B

1.
1

Political Formations in the Eighteenth Century
(iv), 2. (v), 3. (i), 4. (vi), 5. (ii), 6. (iii)
Cash, 2. Peshwa, 3. Nadir Shah, 4. Ahmad Shah Abdali
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C. 1. The successors of Aurangzeb who were weak and incompetent are refereed to as later
mughals.
2. The old mughal provinces were the principalities of Awadh, Bengal and Hyderabad.
Nadir Shah of Iran and Ahmad Shah Abdali of Afghanistan.
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Democracy
A. 1. (a), 2. (c), 3. (b), 4. (d), 5. (b), 6. (a), 7. (a), 8. (d)
B. 1. pro-decomcracy movement, 2. abolitionists movements, 3. Boycott movement
4. Nazism, 5. American civil right movement

W I e

Equality in Democracy

A. 1. Om Prakash Valmiki, 2. Tamil Nadu, 3. American, 4. 1964, 5. elected representatives,
6. caste and religion, 7. equal, 8. stand and enrichment

B. 1. (i), 2. (i), 3. (iv), 4. (v), 5. (iii)

C. 1. Dignity means thinking of one self and others as worthy of self respect.
2. Prior to 1950, the African Americans were treated extremely unequally in the USA and

denied equality through law.

3. A movement took place in the USA in the late 1950’s to push for equal rights for
Africans— Americans. This movement later came to be known as civil rights movement.
It is about the bitter experiences of growing up of a dalit boy.

Walh T e

The State Government
A. 1. Governor, 2. Chief minister, 3. Parliament, 4. Diarrhoea, 5. Government,
6. Legislators, ministers
B. 1. National, state and Local
C. Bill : Bill is a proposed law that has not been passed yet.
Law : A law is a passed bill.
Ordinary Bill : An ordinary bill is a bill that can be presented for discussion in any of the
two houses of the parliament by a minister or private member.
Money Bill : It is presented in the lower house of the parliament. It contains only
provisions dealing with imposition, abolition, remission, alteration or regulation of any tax.

e I e

The Role of the State Government
A. 1. Our ability to remain free of illness and in ?ures




2. Costa Rica

3. hospitals, government

4. Cholera, typhoid, diarrhoea, dysentery etc.

5. Registered Medical Practitioner. They are located in rural areas.
B. 1. True, 2. True, 3. False, 4. False, 5. True, 6. False, 7. True

C. Public Health Services : It is usually provided by the government through national
healthcare system. Public health care services are cheaper.
Private Health Services : It can be provided through for profit hospitals and self-employed
practitioners.

o B Vorsweeris S
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Media and Democracy
A. 1. Magazines : Advantages : (i) The advertisement may be seen several times. (ii) Better
reproduction of advertisements than newspapers.
Disadvantages : (i) Limited audience reach. (ii) Long lead times.
2. Radio : Advantages : (i) Affordability (ii) Wide reach and audience targeting.
Disadvantages : (i) Poor attentiveness and fragmentation (ii) Lack of visual appeal.
3. Television : Advantages : (i) Free entertainment (ii) Social surrogacy
Disadvantages : (i) Television can make you lazy. (ii) Violence and illicit.
B. Right to Safety : It means right to be protected against the marketing of goods and
services, which are hazardous to life and property.
Right to Choice : The consumer Protection Act describes the right to choice as the right to
be assured, wherever possible, access to a variety of goods and services at competitive
prices.
Right to Seek Redressal : It is defined the right to seek compensation due to damage
caused by unfair trade practices and exploitation.
Right to be Informed : Individuals have the right to be informed about the collection and
use of their personal data.
Right to be Heard : This right applies equally to children’s participation in social and
political matters as well as in judicial and administrative proceedings.

. b Vorsreecio L

° °
Advertising
1. Print advertising, 2. Broadcast advertising, 3. Outdoor advertising, 4. Digital advertising
1. False, 2. True, 3. False, 4. False, 5. False
. 1. Mentos, 2. Nokia Mobile, 3. McDonald, 4. Bournvita, 5. Cadbury’s 5Star Chocolate,
6. Cadbury’s Diary Milk Chocolate, 7. Nerolac Paint, 8. Rin bar, 9. Hero Honda bike, 10.
Pepsi

ow»
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A. 1.

B. 1.

C. 1.

°
Social Aspects of Gender Role

The fact of being male or female.

A stereotype is a mistaken idea or belief many people have about a thing or group that

is based upon how they look on the outside, which may be untrue or only partly true.

Societies make clear distinctions between boys and girls from an early age. Most

societies do not value equally the work of men and women. The responsibility of house

work lies mainly with women. However, discrimination takes place be devolving the

tasks of housework and care-giving and not recognizing them as work.

On a global scale, achieving gender equality also requires eliminating harmful practices

against women and girls, including sex trafficking, femicide, wartime sexual violence,

gender wage gap and other oppression tactics.

(c), 2. (b), 3. (b)

Central Statistical Organisation, 2. The Constitution, 3. Domestic worker, 4. Cars,

Dolls; 5. teenagers, 6. sixth.
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A. 1.

B.
C. 1
D.

Economic Aspects of Gender Role
Anytime a person crosses a boundary—a legal boundary, a moral boundary, a physical
boundary or a binding business deal—that’s a violation.
It is unlawful to harasses a person (an applicant or employee) because of that person’s
Sex.
Under the dowry prohibition act, any act to take or give dowry is punishable in India.
The punishment for violating the anti-dowry law is imprisonment for upto 5 years and
fine of ¥ 15,000 or the value of dowry given, whichever is more.
The Hindu code bills were several laws passed in the 1950, that aimed to codify and
reform Hindu personal law in India.
Pandita, 2. 76, 54; 3. street plays, public meetings; 4. 14th August, Wagah
True, 2. False, 3. True, 4. True, 5. False
(vi), 2. (v), 3. (iv), 4. (iii), 5. (i), 6. (i)
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Markets Around Us
(a), 2. (¢), 3. (a), 4. (b), 5. (c)
weekly, 2. wholesale, retailers; 3. producers, 4. little, 5. fewer
True, 2. False, 3. True, 4. True
(iii), 2. (iv), 3. (1), 4. (i)
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A Chain of Markets

A. 1. The five major market system types are perfect competition—monopoly, oligopoly,
monopolistic competition and monopsony.

2. Chain of markets is a series of market that are connected like links in a chain because
products pass from one market to another.

3. Online shopping is a form of electronic commerce which allows consumers to directly

buy goods or services from a seller over the internet using a web browser or a mobile

app.

B. Producer Consumer Trader
Producer is the person Consumer is something that A person who buy and
that produces some thing consumes what the producer sells things, especially
for the people. produced. goods in a market or

company.
1. (v), 2. (i), 3. (iii), 4. (ii), 5. (iv)
1. A chain of market refers to a series of markets that are connected like links in a chain

because products pass from one market to another.

2. (o).
°

C.
D.

Our Environment
A. 1. 5th June, 2. information revolution, 3. Gravitational, 4. hydrosphere, 5. continents,
ocean; 6. atmosphere, sun
B. 1. Oceans, seas, canals, ponds, lakes, spring etc.

2. Biotic environment consists of living things such as organism, plants and animals
whereas abiotic environment consists of non-living things such as air, water, snow,
mountains etc.

3. Land, water, air, plants and animals are the basic components of the natural
environment.

4. Environment is everything that is around us. It can be living or non living.

5. Environment plays an important role in the healthy living of human beings. It is the
only home that humans have, and it provides air, food and other needs.

6. Lithosphere in the reservoir of nutrients that are essential for life, accessible to living
things in the form of soil.

C. 1. False, 2. True, 3. False, 4. False



T e

B. 1.

Interior of the Earth

intrusive rocks, 2. sand, 3. South Africa, 4. mantle, 5. basalt, 6. pressure, 7. inside and

outside, 8. concentric, 9. nickel and iron, 10. metamorphic, temperature

C 1.

2.
3.
4

oW

Plants grow on the crust.

silica and alumina.

1220 km.

The crust is made up of oxygen, silicon, aluminium, iron, calcium, sodium, potassium
and magnesium.

Fossils are remains of plants or animals that got preserved over millions of years.
Minerals are solid chemical compounds that occur naturally in pure form.

Rocks formed from crystallization and solidification of molten rocks called magma
within the earth.

S T e

A. 1.

B. 1
C.

Our Changing Earth
Epicenter : The point on the earth’s surface where the effects of a sudden movement
(earthquake) are felt most strongly.
Weathering : It is the breaking down of rocks, soils and minerals as well as wood and
artificial materials through contact with the earth’s atmosphere, water and biological
organisms.
Deposition : The natural process of leaving a layer of a substance on rocks or soil is
known as deposition.
Delta : An area of flat land shaped like a triangle where a river divides into smaller rives
as it goes into the sea.
(b), 2. (), 3. (a), 4. (a)
erosion, deposition; 2. Flood plain, 3. circular, 4. hypocenter

1.
L b vorsneerze S

A1
B. 1.
C. 1

Atmosphere (Air)
d), 2. (b), 3. (¢)
thermosphere, 2. rain gauge, 3. temperature, 4. atmosphere, 5. carbon dioxide
The degree of hotness or coldness of a substance is called temperature.

1



Water vapour is the gaseous phase of water.

Insolation is the solar radiation.

It is an instrument measuring atmospheric pressure used especially in forecasting the
weather and determining altitude.

2. Instrument used by meteorologists to gather and measure that amount of liquid
precipitation over a set period of time.

Weather and Climate
A. 1. Weather : The state of the atmosphere at a particular place and time as regards heat,
cloudiness, wind, rain etc.
2. Climate : The weather conditions prevailing in an area or over a long period.
3. Humidity : It is the amount of water vapour present in air.
4
1.

il A

The pressure exerted by the weight of the atmosphere.

humidity, 2. rain, 3. air pressure, 4. temperature.

C. The heat retained by the earth increases the temperature of the atmosphere. It is called
global warming. The rise in temperature causes the snow in the coldest parts of the world
to melt. Due to this seas level rises causing floods in the coastal areas. There may be drastic
changes in the climate of a plate bending to the extraction of same plants animals in the
long run.

D. Accurate weather prediction are important for planning our day to day activities. Farmers
need information to help them plan for the planting of and harvesting of their crops.
Weather forecasting helps us to make more informed daily decisions.

L, ) verwzs L

°
Hydrosphere (Water)

A. 1. Cycle that involves the continuous circulation of water in the earth’s atmosphere
system is called water cycle.

2. A slowly moving mass or river of ice formed by the accumulation and compaction of
snow on mountains or near the poles.

3. When a liquid changes to a vapour caused by an increase in temperature is termed as
evaporation.

4. Salinity is the saltiness or amount of salt dissolved in a body of water.

1. navigation, 2. spring and glaciers, 3. Caspian, 4. tides and currents

1. (v), 2. (iv), 3. (i), 4. (ii), 5. (iii)

. The strong gravitation pull exerted by the sun and moon on the earth’s surface causes

tides.

E. The dead sea has a lot of salt in it. Salt water is heavier (denser) than regular water. People

can float in regular water, but since salt water is even denser, it is even easier to float in the

dead sea.

SO
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Natural Vegetation and Wildlife

A. 1. (a), 2. (a), 3. (a), 4. (b), 5. (a)
B. 1. (v), 2. (i), 3. (iii), 4. (iv), 5. (i)
C. 1. Seal, walruses, musk oxen, arctic-cow, polar bear and snow foxes.
2. Shrubs are found in the dry regions.
3. They are found in polar areas of Europe, Asia and North America. Only mosses,

lichens and very small shrubs are found here. The animals have thick fur and thick slan
so that they remain protected from the cold climate conditions. Seal, walruses, musk
oxen, arctic owl, polar bears and snow foxes are found here.
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Human Environment : Settlement, Transport and Communication
A. 1. Scattered settlements are those settlements in which devellings are spaced over large
areas (for example in hills).
2. Mode of communication is the device of sending massages, ideas and information from
on place to another within on time.
3. The ways made underground under the existing road ways or rail ways or river ways to
facilitate the smooth passage of traffic and passengers uninterruptedly.
B. 1. flyovers, 2. site, 3. slanting, 4. temporary, 5. developed, 6. South Louisinia, 7. Indira
Gandbhi International Airport
(c), 2. (b), 3. (a), 4. (b)

T

Human Environment Interactions :

The tropical and the Sub-tropical Regions
(©), 2. (b), 3. (d), 4. (b)
False, 2. True, 3. True, 4. False
Terraces are steps or slope to create flat surfaces on which crops are grown. The slope
is removed so that water does not run off rapidly.
2. Area between 10° North and South latitudes known as equatorial region.
3. These are small rives that join the main river. The main river along with all its
tributaries that drain an area, forms a river basin or the catchment area.
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Life in Temperate Grasslands
A. 1. The prairies are located in the heart of the continent, we find here the continental type

o= p




of climate which is characterised by the extreme temperatures. The annual rainfall is
moderate and is ideal for the growth of grass. Whereas the velds have a wild climate
due to the influence of the Indian Ocean. Winters are cold and dry temperature varies
between 5°C and 10°C and July is the coldest month. The velds receives rainfall mainly
in the summer month from November to February. The animals found in this region
are lions, leopards and cheetas. In the high velds acacia and marula are seen to be
growing.

Prairies are practically treeless. Willows, alders and poplars and found here. Areas with
50 cm rainfall with fertile soil grow maize, potatoes, soyabeans, cotton and alfa-alfa.
Areas with unreliable rainfall have short grasses are suitable for cattle rearing. Large
cattle farms called ranches are looked after by the shurdy men called cowboys. Bison or
the American buffalo is the most important animal of this region. Whereas the
vegetation cover in velds is sparse. Grasses climate the landscape red grass grows in
lush velds. In the high velds, acacia, and marula are seen to be growing. Lions,
leopards, cheetah and kudu are two animals find here.
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Life in the Hot and Cold Deserts
(iv), 2. (v), 3. (), 4. (i), 5. (i)
butter and cheese., 2. Zoji-la, 3. indus, 4. Ladakh



C.

1. Desert is an arid region characterised by high or low temperatures and has scarce

2.

vegetation.

The deserts are characterised by low rainfall, scanty vegetation and extreme
temperatures.

If is scorching hot and parch day. It has shot rainy season with dear skier. Days are hot
and temperature during the day may soar as high or 50°C, heating up the sand and the
nights may be freezing cold with temperature zero degrees.
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Computer—7

° °
World Wide Web

A. 1. (ii); 2. (iii); 3. (ii)

B. Cloud computing is the practice of using a network of remote servers hosted on the internet
to store, manage and process date, rather than a local server or a personal.

C. It is a software application for accessing information on the world wide web.

D. 1. Play lots more online games.
2. Share pictures and videos with your friends and family.

E. If you move your mouse over a A hyerlink is usually If you click on a hyperlink, your
hyperlink, it will change to the underlined. computer will shut down.
shape of a hand.
If you move your mouse over a A hyperlink is usually in If you click on a hyperlink, you
hyperlink, it will change to the bold. will go to a different page on the
shape of a land. World Wide Web.

F. A back button allows an end user to navigate to a previously viewed web page.

L, L vesreais S

World Wide Web

A. 1. True; 2. False; 3. True; 4. True
B. 1. com; 2. web browser; 3. HTML; 4. .edu, 5. Internet explorer
C.

e e ¢

Internet explorer Firefox Chrome
D. |
Back  Forward Refresh Stop Home

The back-button is to go back to a web page that you have just viewed.

The forward button is to go forward to the web page that you have previously viewed.
The refresh button will reload the webpage that you are on.

The stop button is to stop a web page from loading.

The home button brings you back to your starter web page.
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Number System

. (iv); 2. (i); 3. 10110010; 4. (i)

. (22)10; (1842)10; (17069)10

. A base or radix is the number of different digits or combination of digits and letters that

a system of counting uses to represent numbers.

2. It is a method of representing numbers that has 2 as its base and uses only the digits 0
and 1.

3. The number system whose base is 8 is called as the octal numbers system.

4. Hexadecimal number system is one that uses 16 symbols. (0-9) and (A-F) to represent a
value.
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Number System
A. 1. (iv); 2. (viii); 3. (v); 4. (ix); 5. (ii); 6. (vii); 7. (vi); 8. (i); 9. (iii)
B. 1. True; 2. True; 3. True; 4. True
C. 1. Binary; 2. Decimal; 3. 14; 4. 10; 5. variable
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Advanced Features of MS Excel
A. 1. (iv); 2. (i1); 3. (1); 4. (iii); 5. (iv)
B. 1. True; 2. True; 3. True; 4. True
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Radar chart Pictograph Scatter chart

Doughnut chart Line chart Pie chart

C. 1. (ii)); 2. (); 3. (i)); 4. (v); 5. (iv)
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Advanced Features of MS Excel
A.1.F;2.T;3.F;4.T;5.F
B. 1. Title button; 2. Doughnut; 3. Criteria button; 4. Eyes
C. - Open the Excel spreadsheet
— Use mouse to select the cells that contain the information for the table
— Click the “insert” tab > Locate the “Tables” group
— Click “Table”
— If we have column headings, check the box “My table has headers.”
— Verify that the range is correct > click (OK)
D.— Select the cell range we want to sort.
— Select the Data tab on the Ribbon, then click the sort command.
— The sort dialog box will appear.
— Decide the sorting order (either ascending or descending).
— Once we are satisfied with our selection, click OK.
— The cell range will be sorted by the selected column.
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QBasic Programming start
A. 1. (i); 2. (iii); 3. (iii); 4. (ii); 5. (i); 6. (iv)

B.x=4,y=3,z=5 4,y¢3,z 5
C=x+y+z C=x+y+z
S=C/2 S=C/2
Ar = sqr (s* (s—x)* (s—y)* (s—z) Area = Sqr (s*(s—x)* (s—y)* (s—z))
Print the circumference is C Print the area is AR J

C.1.F;2.T;3.F; 4. F PrthAr
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QBasic Programming
A. 1. if and else; 2. loop; 3. OR operator (11); 4. ++/——
B. 1. (i); 2. (v); 3. (iv); 4. (iii); 5. (ii)
C. 1. The process of repeating a series of statements as many times as needed. Loop control
variable : A variable used to determine whether a loop will be executed.
Loop body : The statements that are executed each time a loop repeats. These loops are
used to have a task repeated a specific number of times.
2. The AND operator is a Boolean operator used to perform a logical conjunction on two
expressions. Expression 1 and Expression 2.




3. The GOTO statement sends the procedure to a line label or a line number in the
program.

4. The for....next statement is an interactive, incremental loop statement used to repeat a
sequence of statements for a specific number of occurrences. A for....next loop executes
a set of statements for successive values of a variable until a limiting value is encountered.

o, B vorsreersa S

° °
Graphics and Sound in Programming QBasic

A. 1. (i); 2. (ii); 3. (ii); 4. (ii); 5. (i); 6. (ii); 7. (i)

B. Paint statement is used for filling a graphic area with a specified color or pattern.

C. The SOUND command produces sound of a specific frequency for a specific duration from
the PC speaker. Only one sound can be played at a time. If multiple SOUND statements are
issued sequentially, every statement after the first will not execute until after the previous
one finishes.

D.PLAY and SOUND statements are to run in background. That is each note or sound is
placed in a buffer allowing the BASIC program to continue execution while music plays in
the background. As many as 32 notes can be played in background at one time.

E. Resolution measures the number of pixels in a digital image or display. It is defined as width
by height or WXH, where W is the number horizontal pixels and H is the number of
vertical pixels.

F. COLOUR : Colour means that we see in paint.

PAINT : Paint means that we can brush everything we want.

L, B vonsweerss

° °
Graphics and Sound in Programming QBasic

A. 1. Pixel; 2. Line; 3. White; 4. only; 5. (0, 0); 6. Quality

B. 1. Colour statement; 2. P-Set; 3. BEEP Command; 4. Lowest-37 Hz; Highest - 32767 Hz

C. QBasic color statement is used to change the foreground and the background color of the
Text in the QBasic program.

D.The SCREEN statement is chiefly used to select a screen mode appropriate for a particular
display hardware configuration.

E. The PSET statement stands for Pixel Set. A pixel is a dot on a computer graphics screen.
Pixel stands for picture element. Set means to turn on, so this statement turns on one dot
on the screen.

F. We need the screen coordinates of the end-points. That’s another whole topic. Say the end
points are (A, B) and (C, D). To draw a solid line connecting these points : LINE (A, B) —
(C, D)

G.The circle that QBasic draws is a like that you could draw with a compass on paper —




(center X, center Y) says where to put the compass point, and Radius says how big the
circle is. There are 640 columns across, so the middle of the screen for X is 320. There are

480 rows down, so the middle of the screen for Y is 240.

Worksheet-6A

Introduction to HTML
A. Hyper Text Markup Language (HTML) is the set of markup symbols or codes inserted into
a file intended for display on the internet. The markup tells web browsers, how to display a
web page’s words and images.

B. 1. (iii); 2. (i); 3. (i); 4. (iv)
C. 1. (iv); 2. (iii); 3. (i); 4. (v); 5. (i)
D. Container tag Empty tag
* Container tag consists of opening * Empty tag is tag without content or a
tag + content + closing tag. closing tag.
* Container tags come is pairs that * Empty tags do not directly format content
enclose content. and thus come alone.
E. Root element Head element
The root element is a single element The head element consists of the heading of
in XML document and it contains all the elements like scripts, documents, and
all the other elements. other information.
° °

Introduction to HTML

A. 1. computer networks; 2. Hypertext Markup Language; 3. tag; 4. HTML; 5. <and>;
6. Berners-Lee; 7. Web browser

B.1.T;2.F;3.F;4.T;5.F

C. HTML attributes are special words used inside the opening tag to control the element’s
behaviour.

D.WYSIWYG is a content editing tool. In WYSIWYG editors the edited content whether text
or graphics, appears in a form close to a final product.

E. The <HEAD> tag is typically used to import other files and define attributes of our page
that are not displayed like meta data. The <body> tag is where we place the parts of our
website that we want displayed like p tags, divs etc.

F. <HTML> tag : An HTML tag is a commonly defined as a set of characters constituting a
formatted command for a web page.
<HEAD> tag : It is used to contain specific information about a web page, often referred
to as metadata.
<TITLE> tag : A title tag is an HTML element that specifies the title of a web page.
<BODY> tag : The body tag defines the documents body.
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Formatting to HTML
A. 1. (iii); 2. (1); 3. (i); 4. (ii); 5. (1); 6. (iv); 7. (iii); 8. (1); 9. (ii)
B. 1. <A>; 2. <p> and <blockquote>; 3. <em>; 4. <bgcolour>; 5. <hr>
C. 1. <h;> to <hg>; 2. &nbsp; 3. <i>; 4. <bgcolour>
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Formatting to HTML

A. 1. (ii); 2. (vii); 3. (viil); 4. (x); 5. (ix); 6. (iv); 7. (i); 8. (iii); 9. (vi); 10. (v)
B. 1. <text align = “centre’>.....</text>; 2. <hl>; 3. <text color = #hexcode>...</text>;

4. comment; 5. <sub>/<sup>
C. <b> — Bold text

<strong> — Important text

<i> — Italic text

<em> — Emphasized text

<mark> — Marked text

<small> — Smaller text

<del> — Deleted text

<ins> — Inserted text

<sub> — Subscript text

<sup> — Superscript text
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List in HTML

A.1.T;2.T;3.F; 4. F

B. 1. (iii); 2. (i); 3. (v); 4. (ii); 5. (vi); 6. (iv)

C. 1. Python; 2. Description list; 3. Table

D. Definition List displays elements in definition form like in dictionary. The <dI>, <dt>, and
<dd> tags are used to define description list. The three HTML description list tags are
given below :
<dI> tag defines the description list.

L, B vorksesiss

List in HTML
A. 1. unordered, ordered, description; 2. 1; 3. table data; 4. column




B. The cell spacing attribute places space around each cell in the table. The cell padding
attribute places spacing around data within each cell.

C. 1. (i); 2. (ii)

D. 1. It is used to present data in tabular form.

2. It defines the head cell of an HTML table.

3. It defines the row cells in an HTML table.

4. It is used to define cells of an HTML table which contains table data.
5. It is used to define group of columns in a table.

E. A block quotation is a quotation in a written document that is set off from the main text as a
paragraph or block of text and typically distinguished visually using indentation and a
different type face or smaller size font. This is in contrast to setting it off with quotation
marks in a run-in quote.
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HTML Frames
A. A frame is a part of a web page or browser window which displays content independent of
its container with the ability to load content independently.

B. Advantages Disadvantages
1. It allows the user to view multiple 1. A user is unable to bookmark any of the
documents within a single Web page. web pages viewed within a frame.
2. It is possible to load pages from different 2. Frames can make the production of a
serves in a single frameset. website complicated, although current

software addresses this problem.
C. 1. (i); 2. (ii)
D. 1. Link; 2. hyperlink; 3. Book; 4. <body>
E. Floating frames are designed to display paintings done or photos printed on stretched
canvas. This method of attaching the artwork means that the piece does not need to touch
the frame itself in order to be securely fastened, creating the illusion that it is floating within
the frame.

L, L vesweass L

® °
Statements in HTML
A. 1. frameset; 2. <frameset>; 3. rows attribute; 4. cols attribute
B. 1. The purpose of the HTML border attribute is to set a visible border width for a table.
2. It is used to specify whether or not a border should be displayed between the frames.
3. This attribute specifies the amount of space to be left between the frame’s contents in its
tops and bottom margins.
C. a simple frame document:
<!DOCTYPE HTML PUBLIC “-//W3C//DTD HTML 4.01 Frameset//EN”




“http://www.w3.org/TR/html4/frameset.dtd” >

<HTML>

<HEAD>

<TITLE>A simple frameset document</TITLE>

</HEAD>

<FRAMESET cols=“20%, 80%” >

<FRAMESET rows=“100, 200” >
<FRAME src=“contents_of framel.html”>
<FRAME src=“contents_of frame2.gif” >

</FRAMESET>

<FRAME src="“contents_of frame3.html”>

<NOFRAMES >

<P>This frameset document contains:

<UL>
<LI><A href="“contents_of framel.html”>Some neat contents</A>
<LI><IMG src="contents_of frame?2.gif” alt="A neat image”>
<LI> <A href="contents_of frame3.html”>Some other neat

contents</A>
</UL>

</NOFRAMES >

</FRAMESET>

</HTML>

that might create a frame layout something like this:

D.1. (v); 2. (ii)); 3. (iv); 4. (i1); 5. (1)
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Introduction to Java Programming
A. 1. Identifiers are tokens (symbols) which name the language entities. Some of the kinds of
entities and identifier might denote include variables, types, labels, suboutlines, and
packages. Which character sequences constitute identifiers depends on the lexical
grammar of the language.

2. Aliteral is a notation for representing a fixed value in source code.

3. A variable or scalar is a storage location paired with an associated symbolic name, which

contains some known or unknown quantity of information referred to as a value.

4. Blue ] is an integrated development environment for the Java programming language,
developed mainly for educational purposes, but also suitable for small-scale software
development.

. (iv); 2. (iv); 3. (0); 4. (1)
. Public class Echo {public static void main (string[ Jargs) {string line
. Scanner in = new Scanner (System.in); System.out
print (“Type something:”); line = in.nextline ( );
3. System.out.printin (“You said : ” + line); System.out.
print (“Type something else:”); line = in.nextLine ();

L Vorsheerion S

Introduction to Java Programming

0w
N =

.T;2.F;3.F;4. T
. bench; 2. explained, proud; 3. variables; 4. Eclipse
. Java applets were small applications written in the Java programming language, or
another programming language that compiles to Java bytecode and delivered to users in
the form of Java bytcode.
2. In Java, delimiters are the characters that split the string into tokens. Java allows us to
define any characters as a delimiter. There are many string split methods provides by
Java that uses whitespace character as a delimiter.
D.Output of Ist one is Computer Applications if 2nd one is System.out.println (n.ends with
(e"); then Output, true
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JavaScript in HTML Documents
A. 1. (iv); 2. (1); 3. (ii); 4. (v); 5. (ii)
B. 1. JavaScript includes various categories of operators : Arithmetic operators, Comparison
operators, Logical operators, Assignment operators, Conditional operators, Ternary

operators etc.

o= p




2. A Javascript variable is simply a name of storage location. There are two types of
variables in Javascript : local variable and global variable.
3. Single-line comments are used to comment a part of a line or a full line of code in
Javascript.
C. class welcome {
public static void main (String [ ] args) {
System.out.println {“Welcome to Java Programming”)’

}

}
o, L Vi S

JavaScript in HTML Documents
A. 1. (ii); 2. (iii); 3. (iii); 4. (i)
B.1.F;2.F;3.T;4. T
C. 1. useful; 2. reserved keyword; 3. (script); 4. windows prompt ()

~r, Yy
Viruses

A. 1. Bitdefender Antivirus plus; 2. Norton 360 with LifeLock; 3. Webroot Secure Anywhere
for Mac; 4. McAfee Antivirus Plus; 5. Kaspersky Free Antivirus
B. They will try to kill each other. A competing antivirus program that is monitoring and
sending information about our system tends to look like a virus. They will fight over viruses.
C. Melissa in a fast-spreading macro virus that is distributed as a e-mail attachment that when
opened, disables a number of safeguards in Word 97 or Word 2000, and, if the user has the
Microsoft Outlook e-mail program, causes the virus to be resent to the first 50 people in
each of the user’s address books.
D.1. A computer virus is a type of malicious code or program written to alter the way a
computer operates and is designed to spread from one computer to another.
2. It is a standalone malware computer program that replicates itself in order to spread to
other computers.
3. A trozan horse is any malware which misleads users of its true intent.
. Malware is intrusive software that is designed to damage and destroy computers and
computer systems.
. (1); 2. (1); 3. (i)
. Michelangelo, stoned; 2. Badtrans, Bagle; 3. USB drive/CD/DVD/floppy; 4. boot
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